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Question Id : 3421233982 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table embodies the details about the profits (in Rupees Lakhs) earned by five
Retail Stores A-E during the vears 2018-2023. Based on the data in the table, answer the
questions that follow.

Store-wise Details of Profit

Profit (in ¥ Lakh) earned in the year
2018201912020 2021 (20222023
12 | 18 | 24 | 21 | 15 | 30
9 15 | 18 | 12 | 21 | 24
33 ] 24 ] 21 | 30 ] 36

Store

HiD|o|w] e
()
|

Note: Profit = Income — Investment

Sub questions

Question Number : 1 Question Id : 3421233983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The profit earned by Store A in 2023 is approximately % more than that in 2019.

1. 40

f-2

. 66.67

4, 33.33

Question Number : 2 Question Id : 3421233984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the percentage change in profit for the stores A, B, D and E for the pair of years {2018
and 2019}, {2018 and 2019}, {2018 and 2022} and {2018 and 2022}, respectively. Which store
has maximum percentage change in profits for the pair of years mentioned?

I.&

2.B

3.D

4. E

Question Number : 3 Question Id : 3421233985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What should be the income of store D in 2020, so that its profit percent is 30%
1. 33 lakh
2.3 42 lakh
3. 260 lakh
4. T 78 lakh

Question Number : 4 Question Id : 3421233986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the year 2019, to earn a profit of 20%, by each of the stores C and E, what is the ratio of
investments made by C to that of E?

I 7 13
2415
3.5 1
4.11:7

Question Number : 5 Question Id : 3421233987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Owner of store C invests 2 9 lakh in 2021. What should be the investment of D in the same year
to get an income which is double than that of store C?

1. %51 lakh

(]

.2 6 lakh

3.3 50000

4.2 33 lakh

Question Id : 3421233982 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

{5 d1feiep1 H Ui Gexl USRI A-E §RT2018-2023 & I8 GIRM 3Hfoid a1y (dRd T H) Faei
faraRuT fea TRy ¢ | 1Tl H Ued S1el & SR UR, M U 78 U4l & IR Sifelt -

WTH BT UHSR-9R fazur
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. gy o 3ffold a1y (z ag H)
HER
2018120192020 2021 120222023

A 12 18 24 21 15 30
B 9 15 18 12 21 24
C 27 33 24 21 30 36
D 15 12 18 9 21 9
E 18 21 15 15 12 24

feoqufl. drY = 3/ — =

Sub questions

Question Number : 1 Question Id : 3421233983 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

H3R A GRT2023 H 3AfSId d1H 2019 H 3fSld A1H T T THI

1. 40

2

. 66.67

3. 266

4. 3333
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Question Number : 2 Question Id : 3421233984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YSR A, B, D 3R E DI HHE: 99 TH {2018 3R 2019}, {2018 3R 2019}, {2018 3R 2022}
3R (2018 3R 2022}, H U T4 H Hfq=rd uf¥acH W =R Sifoe | fcafad gm-auf o
ford HeR & a4 | Siftidd Ul uRad g2

l.A

[

B
3.
4.E

Question Number : 3 Question Id : 3421233985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2020 H HSR D &I 319 fdhd-l BI- I1ieU didh! I9DHT drH Ufd2rd 30% Bl?

1.233 ¢l

f-2

.242¢lld
3.260 ¢l

4.278 dld

Question Number : 4 Question Id : 3421233986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2019 H H3R € 3R E AP Bl 20% 1Y 3Hfold B3 & [olU ¢ gRT fdHT T (9= BT E gRI
foh T 1T f99=1 & Ty T 3T fhd-1 g2

S

k2
[
n

Question Number : 5 Question Id : 3421233987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HER ¢ & WIHI H 2021 H z 9 AR 1 Ha2 fhar| Y8R p H 34t gy foa1 a2l fooan ST
1T dIfh IYD! 3 SR ¢ P g1 & QT3

1.251 clld

I

.26 ¢l

3.% 50000

4.233dd

Sub-Section Number : 2
Sub-Section Id : 342123162
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421233988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
(Kinds of classroom I—IS:I I_I
Resources) (Description)

Resources which are not easily bought, measured or adjusted, e.g.

5 | Bample Bestasoss L instructional approaches and teaching philosophies.

B Compound 1 Resources difficult to discern and measure and often embedded via web
" |Resources " | of relationship and practices, decision making, teacher accountability etc.

Physical object and can be directly bought, adjusted and measured e.g.

il e e textbooks, blackboards and chalks etc.

Use of two or more than two resources such as class, size reduction and

D. |Abstract Resources | IV. G

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV
2. A-IV, B-III, C-1I, D-1I
3. A-IV, B-III, C-1, D-II

4. A-II1, B-1V, C-1I, D-1

Question Number : 6 Question Id : 3421233988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1
HE Eﬂﬁﬂi _‘E‘EI
TFR

: T T forg Smrart 9 @iiar T8l o Yoar, H10H 91 HRId el [
A | SIS | 3 S 9@ di | areony fRrar gt efpeiun 3R fEeor e

; U 91eH a1 UggH SR A3107 S B164 8idl & 3R U: $% 9|y
B WTHEET | I | o o Fivfer o, e Gt 1fS B o & WHed R STl 21

e a¥g SR Uee ¥ T @ o Uabddl g, Yo & o 9l &
c |Sfeadurem |1 | 3R gu@ amH fogn o Uad g1 Sareiond ursd Uiid, sideale. did
ST

D. |erdwam | v %ﬁfrﬁ&mw@aﬁﬁwﬁwﬁﬁmwﬁﬁﬁﬁﬁ

i fqu U fah el § 9 T8T STk DI I DIfIT;
1. AL B-II, C-IIL, D-IV
2. A-IV, B-IIL, C-IL, D-I
3. A-IV, B-III, C-I, D-II

4. A-IIT, B-IV, C-II, D-I

Question Number : 7 Question Id : 3421233989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What cannot be held as the correct motive of Question-Answer technique in Teaching?

1. To test the knowledge

t2

. To locate the difficulty

3. To intimidate and hamper self-confidence

i

. To promote thinking and originality

Question Number : 7 Question Id : 3421233989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R80T H UY-3dR dhid & Ul 3530 & U H [HUiaRad f&d gl foran 51 Uddi g2
T T & AT

. DI&TS B Udl T

3. YT HAT 3R TH-TTYI | 9141 STefAT
4. Tl 31R Hiferehdl &1 Ferar &l

—

f-2

Question Number : 8 Question Id : 3421233990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Acronvm *SWAYAM’ represents -

1. Scopus Web of Attentive learning for Youth and Apt Minds

t2

. Social Web of Agent learning for Youth and Adult Minds

L

. Study Webs of Active learning for Young Aspiring Minds

i

. Science Web of Aspirants and Young Active Minds

Question Number : 8 Question Id : 3421233990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl -swavam [FgfeRad &1 uiaifd drdigl

1. ThIUY 94 3% 3{cfed Al R gy Us T ArEsd
 I2Ie A9 1% TSI AT BR 3y US Used gy
3. W31 deY 3 Ulded -1 BR 7 TUISR A5 gy
WIS 39 3% THURREY TS 47 Ufded HIggy

2

e

Question Number : 9 Question Id : 3421233991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following can be considered as the component of development of ability of critical
and logical thinking?

A. To identify the problems

B. To analyse the problems

C. To establish subjective truths

D. To select relevant facts and principles
E. To draw inferences and conclusions

Choose the correct answer from the options given below:
1. Aand C only
2. A.Band C only
3. A.Band D only

4. A, B,Dand E only

Question Number : 9 Question Id : 3421233991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad oY THEaRAES 3R b fdd &t aradl & f[9H™ &1 9 AT Sl
Hhdl g7

A. THI I UgaH Bl
B. GHA13 &1 G0 HRAT
C. HTHAMEY =3l &l RTUT HATl
D. WTd 9l 3R Rigidl &1 994 &A1
E. 3AM 3R (56 fHdbreT
A feu T fawedl § 9 o IR B 99 DIIT;
. Had A AR C
2. HAAdA. B3R C
3. Hdd A, B3R D

4. Hdd A, B.D 3R E

Question Number : 10 Question Id : 3421233992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

(\Ii-‘EI‘SL]:E'pi'I‘ ls Tvpe S5
= 282 1Yp (Indicator)
Learner
A | Judging learners I | Depend on outside simulation and interaction for engaging in learning
) They choose to decide things impersonally based on analysis, self

B. |Exmovert learners I | 2 . -
discipline, logic, prefer clear course and outcotnes

o | sing I f:uncemed with l;nujﬁ'mg the essentials and take actions quickly,
intolerant to ambiguity

0. | The thinkers v Seek out patterns and relationships among the facts they gather inferences,
guesses from context

Choose the correct answer from the options given below:

1. A-II, B-III, C-1, D-IV
2. A-1IV, B-1, C-1II, D-II
3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Question Number : 10 Question Id : 3421233992 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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b & 11
ﬁ&nﬁa;ﬁmﬁ-m =
n ﬁ%ﬁv‘mm : ?wﬁﬂw@ﬁ%ﬁnmﬁﬁﬁw@%mﬁmw
' i
I/ =, 3 . T & YR W 3EUGdd T d
B. |afede famdlf | 1 |o%gsil & Ydu H Foig o &1 g1 Tl Ty uredshd SR gRomE! @l
UYASdIGd 8|
ETAH al B A+ § Gefed 8id & 3R 39 $RaE & &,
C. EdEﬁlfl IIT. &mﬁﬂﬁﬂﬁﬁ‘ﬁ%l
D. |Fid® V. |l o TeHT ofR dael & aer=l &d 5. d HeH ¥ ofHH UhA $d g
1 fu 7T fadedi O 9 W8t SR &1 99 DIl

|

B

. A-II, B-III, C-1, D-IV
. A-IV, B-1, C-III. D-II
. A-IIL B-1, C-IV, D-II

. A-I, B-11, C-III, D-IV

Question Number : 11 Question Id : 3421233993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research is generally associated with-

1

b

. Inductive approach

. Deductive approach

. Positivism

. Objectivism

Question Number : 11 Question Id : 3421233993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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O 2Ny FrT-gadl 9 o 9 g ¥ "difdd giar g2

1. 3HATHS SUNTH
T THATES 3UNTH

3. Udediq
4. faugfagarg

[~

Question Number : 12 Question Id : 3421233994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative content analysis of documents relating to different time periods corresponds to which
of the following research designs?

1. Cross-sectional
2. Longitudinal
3. Case study

4. Comparative

Question Number : 12 Question Id : 3421233994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 fird prarafel ¥ Yefdd yeiRdl &1 umdEd Siddatd [adwu g9 H 9 SiF 9 2y
HYPHed & =Y g2

1. UfafHerda®
e

- HHU] HHYA

I

d

4. dddIHD

Question Number : 13 Question Id : 3421233995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the datasets with following pairs of mean (E] and standard deviation (o) in increasing
order of their coefficient of variation:

A x=2>o=9
B.x=40,0=12
C.x=30,c=10
D.x=35,0=I11

-

Choose the correct answer from the options given below:

L4 B E.D

t-2

B, C, DA
3ACDB

4.B,D,C, A

Question Number : 13 Question Id : 3421233995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

slel Jel & Hied () d HFSD fade (o) dTel [F% gl &1 3 TR0 Uil & ded $H H
IR BT

1.A.B.C.D

[

-0 e s 0

3.A,C, D, B

4=

B DUCA

Question Number : 14 Question Id : 3421233996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, a student will have to submit a revised thesis
for which of the following similarities of thesis?

A 12%
B.27%
C. 46%
D. 66%
E. 70%

Choose the correct answer from the options given below:

l.A.Band C only
2. B, C and D only
3.C.Dand E only

4. A and B only

Question Number : 14 Question Id : 3421233996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRt & Tae o goiil faf s 2018 & AR fqendi &1 s 2y gdy B g o g
fah -l T3 & HROT GRS Qe Ueef TR DA S

12%
27%
46%
. 66%
- 70%
4 fGU U fasedl # U ggT 3R &1 994 I
. had A. B3R C
2. BAdA B, C 3R D
3. HAd C.D 3R E

4. Phdd A 3R B

HOnNm e

Question Number : 15 Question Id : 3421233997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Tspe of Variables) (Example)
A | Nominal I. | Anger level
B. | Ordinal II. | Crop vield
C. |Interval III. | Type of forest
D. |Ratio IV. | Temperature in Fahrenheit

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-III

I

.A-I, B-IL, C-III, D-1IV
3. A-III, B-1, C-1V, D-I1
4. A-IIT1, B-1V, C-1, D-II

Question Number : 15 Question Id : 3421233997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy
1 T I

W I UBR ISTEI
ElIEG L |wydH TR

HHYAD II. | He] 30
R EIGIE] 1L |99 UhR

urd IV. | BREgIEE H diyHH

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-IV, D-III

ola|w|r

(B

.A-L B-II, C-1IL, D-IV

3. A-III, B-1, C-1V, D-I1

4

- A-IIL B-IV, C-1, D-II

Question Number : 16 Question Id : 3421233998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following ancient sites in India is known for oldest forms of human
communication?

1. Dholavira
2. Bhimbetka
3. Ropar

4. Sinauli

Question Number : 16 Question Id : 3421233998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd & [Hafafad urie wdl d {Ha6! 4Hd YR &1 GRIGH U HHT S1dl 62
B ISIEIR

RYEERGA
3,398
4. T

[

Question Number : 17 Question Id : 3421233999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Without whom the communication process cannot be completed?

l. Receiver

t-2

. Media

3. Writer

s

. Expert

Question Number : 17 Question Id : 3421233999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fehdh o1 Fuwor gui 91 81 Yol g2
1. Ultddhd I

AT
3. G dH

4. f[agmg

f-2

Question Number : 18 Question Id : 3421234000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following four stages of communication in a proper sequence:

A. Transmission
B. Encoding

C. Sender

D. Feedback

Choose the correct answer from the options given below:

1. C.BA D

t2

.B,AC.D
3D, C,B; A

4.A,B,C,D

Question Number : 18 Question Id : 3421234000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR & IR RO &1 3fEd SHA G -

A. TR
B. HedhUl
C. UN&h
D. Ufdg®
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

2. B4 C D
32D, C,B; A
4 A B.C,D

Question Number : 19 Question Id : 3421234001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the correct definitions of communication?

A. Process of ideating, searching and telling.
B. Process of sending, receiving, and interpreting the message.
C. Communication is social interaction through messages.
D. Process of thinking. writing, and channelising the messages.
Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. B and D only

4. B and C only

Question Number : 19 Question Id : 3421234001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafafad ® 9 SH-3 TOR & gl TR g2

A. TaIR-GoH SR, TR B 3R ddH DI Uidhan

B. Y1l &1 WoH, U 3 2R UHH D1 ufcha

C. TR, Yol & Hiegd § griTold Idarg ¢

D. Y &1 TraH, forg- 3R 99a O HoH & Ufdear
A fGu U A edl § O 8T 3R &1 904 DifoiL:

|. HddA3RB

2. HIA AR C

3. Hdd B 3R D

4. HAA B 3R C

Question Number : 20 Question Id : 3421234002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Communication Term) (Examples)
A | Formal communication I | Religious discourses
B. |Informal communication II. | Questioning oneself after doing a mistake
C. | Group Communication III. | Taking part in meeting
D. |Intra-personal commumication | IV. | Conservation in canteen

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-IL. B-IIL, C-I, D-IV
3. A-IIIL B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III
Question Number : 20 Question Id : 3421234002 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

A1 T I
U0 Ug ITEN

Hoa@ §or | 1 |ufi® uaed

HATEING TR | 1L | @5 TTed) &3 & 916 @d 9 09 05T
TG YR | 1L |§5® § YFT T

Jg-aufdde dar | Iv. | H 9rddid

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-I, B-IL, C-III, D-IV

olo|w|»

2

. A-II, B-1II, C-1, D-IV
3. A-III, B-1V, C-1, D-II

4. A-IV, B-1, C-II. D-III
Question Number : 21 Question Id : 3421234003 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A shopkeeper first increased the price of an item by 12% and then announces a discount of 20%.
The actual discount on the original price is:

1. 12.6%

[Q
PN
=
N
G
b

Question Number : 21 Question Id : 3421234003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uh GhHGR - Ugd fhdl 9% Bl HIAd T 12% B gl B &l 3R IUD 916 20% Be o | Jad
@1 IR IRdfdD B ¢:

1. 12.6%

I

. 10.4%
3. 14.2%
4. 12%

Question Number : 22 Question Id : 3421234004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 200 m long train is travelling at a constant speed of 20 m/s. How long will it take to completely
cross a 1000 m long railway platform?

l. 1 minute

2

. 1.5 minute

. 2 minutes

[V

4. 2.5 minutes

Question Number : 22 Question Id : 3421234004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh 200 Hiex Tl ST 20 Hie/Uld Ydhs DI U HHII U &lS gl g1 Ub 1000 HieR
dd Ydd e & I kg IR B J 34 fdha=1 99 T

1.1 fe
15 e
fire
4.2.5 e

I

W
(]

Question Number : 23 Question Id : 3421234005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in decreasing order?

A —

13
16

14
17

D.

Choose the cerrect answer from the options given below:

1.D,C,B,;A

]

A B.C,D
3 C.D.B,A

4.D,C,A,B

Question Number : 23 Question Id : 3421234005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafaiad fiel @ ged &F | afeud o3|

17
A —
21

15
19

B —

i feu U fadetl & 9 F81 IR DI T BT
1.D,C,B, A
2.A,B,C,D
3.C,D,B,A

4.D.C,A.B

Question Number : 24 Question Id : 3421234006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the series 0, 7, 26,63, 124 .........oooiiiiiina...

. 344
=i |
215

. 730

ODnwpe

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. A and D only

Question Number : 24 Question Id : 3421234006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRACT 0. 7. 26, 63. 124 ..o T 3 dTdl 3idh! DI Ygd di |

onw

1 fQu Y fae et § 9 #8713 o1 994 DI
1. Hdel A 3R B
2. HddAB 3R C
3. %dd C 3R D
4. Had A RD

Question Number : 25 Question Id : 3421234007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Word) (Unigue Code)
A |PRIME [ |NPGKC
B. |SIGHT II. |QGEFR
C. |QUITE ITI. |OSGRC
D. |EHYME IV. |PFWKC

Choose the correct answer from the options given below:
1. A-I. B-II, C-1II, D-IV
2. A-IL B-IIL C-IV, D-I
3. A-IIL, B-IV, C-1, D-II

4. A-IV, B-1. CII-, D-IIT

Question Number : 25 Question Id : 3421234007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
A1 T 10
T

sfgda oe
A |PRIME I. |NPGKC
B. |SIGHT II. |QGEFR
C. |QUITE III. |OSGRC
D. |RHYME IV. |PEWEC

AT fau U fadedl # U Igt 3O &1 99 DIfoIu:

1. A-L, B-IL, C-III, D-IV

b2

. A-II, B-III, C-IV, D-1

3. A-IIL, B-IV, C-1. D-II

=

. A-1IV, B-1, CII-, D-III

Question Number : 26 Question Id : 3421234008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a fallacy of Relevance?

l. Ad Hominem (Personal Attack)

2. Attacking the Motive

L8]

. Tu Quoque (Look who's talking)

4. False Alternatives

Question Number : 26 Question Id : 3421234008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afiRad | ®F 91 U RISl &1 dbaly Jal g2
1. AfaaTa 3a™

2. 350 WM UGR
3. ¢l DI d1d B gl g
4. 7dd f[adeq
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Question Number : 27 Question Id : 3421234009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred correctly from the following?
“Science Is based on experiment, on a willingness to challenge old dogma. on an openness to see

the universe as it really is. Accordingly, science sometimes requires courage at the very least the
courage to question the conventional wisdom.”

A. Premise: Science sometimes requires courage.
B. Premise: Science is based on experiment, as a willingness to see the universe as it really is.

C. It is merely an Illustration.
D. Conclusion: Science sometimes requires courage.
E. Conclusion: Science is based on experiment, on a willingness to see the universe as it really
is.
Choose the correct answer from the options given below:
1. A, Cand D only
2. Aand D only
3. B and D only

4. B, C and E only

Question Number : 27 Question Id : 3421234009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafifad @ ®H-&19 98 ¥ ¥ 3udiéd fhu &1 96hd g2

IR Tl Bl I & Bl IHD AT, T VS &I o U 4 < g [ 1 IRad H DI
3 &Id g, 98 (o0 fai vl 4R 31eriRd gidi g | dgd8R 34 foid dull-dl fag 9
F6 I JfSHT UR U - Bl SUel &l Siidl g~

A. YR dTa: HHI-HHI {1 BT A8 BT ATTGD T il g |

B. %nmu%aﬁq SIRIUS &1 dRdldddl &l Udl TR &1 Sl gd a1 Tl UR SR
|

C. g 9 U [ F=yu g |

D. (5 : fa5iH &l Hul- Sl 98y &1 eIl gidi 3|

E. [0 : S90S &l dRdidd &0 § ¢8- &1 Sddbdl o (93 W IR S1Y1Rd gl gl

-4 feu U fadedl # 9 @1 SR &1 99 DT
1.%dd A, C 3R D
2. Hdd AR D
3. Hdd B 3R D
4. HdAB, C IRE

Question Number : 28 Question Id : 3421234010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Observe the following argument and find the correct form:
"A' has characteristics of *X’ and 'Y".

‘B’ has characteristics of ‘X" and 'Y".

*A’ has a characteristics of *Z’.

Therefore ‘B’ has a characteristics of 'Z'.

Choose the correct answer from the options given below:

1. Statistical Argument

f-2

. An argument from Authority
3. Mathematical Argument

4. Argument from Analogy

Question Number : 28 Question Id : 3421234010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad gidd BT s/adid HIfCT 3R g1 HRAY JTd HIfST -
AH X AR Y & A gl

B H X 3Ry & AU g

‘A H 7 BT AU G|

O B H *Z BT A&

A fGu U A cdl § 9§ T 3R &1 944 DifeiL:

1. Gl gfdd
2. UMYl &1 gfdd
3. TIford T gfad

4. Gre=ydl ®f giad

Question Number : 29 Question Id : 3421234011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

I1IST1 LISTII
(Fallacy) {(Description)

When an arguer tries to side track his audience by raising an irrelevant

A | Strawman I 15 i e, : 2 £
issue and the claims that the original issue 1s settled.

; When an arguer states or assumes as a premise the very thing he/she is

B. |Red Herring 1L : 5 : P : e
trving to prove as a conclusion.

C. |Equivocation III. | When arguer distorts an opponents claim to make it easier to attack

Begging the 5 : : :
D. Quhe;tiozl IV. | When a key word 1s used in two or more senses in the same argument.

Choose the correct answer from the options given below:
1. A-IV. B-1, C-III, D-II
2. AL B-IIL, C-IV, D-I
3. AL, B-II, C-IV, D-III

4. A-II, B-1, C-IV, D-II

Question Number : 29 Question Id : 3421234011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
agﬁaﬁu faawor
1 @1 qaal 9 ®is giadmdl AU Yid] BT SUHES Tt U g & Ua8 &idl o
* | ) L | oiR crar o e o g R, o1 g o fear T )
p [HAPEFIRS | |96 ol et &1 &4 H g 31 d18d1 § 94 HYR 91 &
- |&Rm | =0T g8 SU@T SwE Bl § 91 QA SRa g
& lsasirs i mewmﬁmﬁwﬁmﬁﬁm
p. |eremaa v gﬁ@gﬁﬁmwﬁ%%ﬁﬁ@mﬁmmm

AT fau U fadedl # U Igt 3O &1 99 DIfoIu:

1. A-IV, B-1, C-III, D-II

b2

3. A-L, B-II, C-IV, D-III

4. A-1I1, B-1, C-1IV, D-II

. A-II, B-III, C-IV, D-1

Question Number : 30 Question Id : 3421234012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the light of Nyaya's Syllogism, which of the following are correct?

A. 'Sadhya' is the major term
B. ‘Linga’ is the minor term

C. 'Hetu is the middle term

D. ‘Paksa’ is the minor term

E. “Anumana’ is the inferential knowledge

Choose the correct answer from the options given below:

l.A. B and C only

B

3. B and D only

4. B, D, and E only

. A, C.D and E only

Question Number : 30 Question Id : 3421234012 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1Y 9I & ATcdld H FafdaRad d oiH-$H 9l g2
A T fAdg UG g
B. el 5@ US
C.BIHH UG T
D. U8 JERA UG ©
E. <3HHM HHHHS I ¢
A fou U fasedl § 9 ¥8T 3R &1 994 DI
. $dd A, B3R C
2. ®hdd A, C, D 3R E
3. Hdd B 3R D

4. Hdd B, D 3R E

Question Number : 31 Question Id : 3421234013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In MS-EXCEL, a formula =BS$1 + CS3 + 5 in cell D9 when copied to cell F12 will become:
Choose the correct answer from the options given below:

=Pl +E3=5
2.=B82+C84+5
3. =C51 + D3 F3

4. =D +ES3+5

Question Number : 31 Question Id : 3421234013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TAUY-URA H, BIF Do H YA =BS1 + C$3 + 5 DIY F12 H DI [T 1 R g A |14
ST
A fGu U famedl § 9 ¥8T 3R 1 994 DIoIU:

L= =S

b2

.=B$2+C84+5

(ad

Rt B o B e B R

4.=D31 +ES3+5

Question Number : 32 Question Id : 3421234014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A webpage displays the following information. in which underlined word is a link to another
webpage.

For digital devices, the bandwidth 1s usually expressed in bits per second (bps). For analog devices, the
bandwidth 1s expressed in Hertz (Hz)

Which method of data organisation is being used?

1. HTML
2. Hypertext
3. Storyboard

4. Data Scheme

Question Number : 32 Question Id : 3421234014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U da0s IR 9 Y1 UeiRid g foad Raifed s U 3= daus ol fiid § -

fEslied 13 Bq. Ssfagy & YA 928 Ufd 497S (bps) H S0a0 631 &A1 & | TAIGH 431 84,
dSEsy @i 5 (Hz) H oo frar ST 81

gl S1eT HiTe o T fafer o1 ugi fohar o g1 62
L.
2. BIRURCHRT
3. ERIES
4. ST WA

Question Number : 33 Question Id : 3421234015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct logical sequence of the following four randomly-ordered sentences A - D
about the discovery of Computer Mouse?

A. We use the mouse today because it is the pointing device that is easiest to use compared to
others such as joysticks, trackballs etc.

B. Doug Engelbart was bored at a conference and started thinking about tracking movement of
a plane using two sets of wheels moving in orthogonal directions.

C. Doug Engelbart remembered these notes when he was trving to come up with a device to
select objects on a computer screen.

D. Doug Engelbart tells the story of how he invented the mouse.

Choose the cerrect answer from the options given below:

1.D,C,B,A
2.4, B.C1D
3.B,C.,D.A

4. D, B.C A

Question Number : 33 Question Id : 3421234015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIR AI3Y &l Wil & Yoy H grefadd U U HdRYd 4 IR 9101 A- D S Hgl diihd
3P H DI UgdH DI

A. BH TS HI3Y &l YA did g Hifh 98 SH1d B dTdl 98 3UHI § Sl A,
cahdld, e S 3= 43f &I Ja=1 T SugT S T gaiidsd g |

B. 31371 Wiedld Udh YHIeH H 981 39 Y8l AT 3R 38 ufgdl & <l el &l dadiuliy ez
H Fdld §U U Wi & I Sl @ioRgaR o & dR T 4T $IRY b

C. Sid 1371 Udledd her whiH UR d¥d 31l & 999 gd U7 d-1H Dl DITRI=I S Q1 U1, dl
34 g fewfoml o1 w07 gai|

D. SI37 Wiede o a8 HUI AR b 3G HI3H B TR HY b

A fSUu U fasedl § 9 FgT 3R 1 994 DHIfoIu:

1.D,C,B,A

2A,B.C.D
3.-B.C, DA

4.D,B,C. A

Question Number : 34 Question Id : 3421234016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base -M number system, then which of the following equalities

are true?

A. (512.125);0 = (1000000000.001),
B. (512.125);0=(1000.1)g

G532 125)565 ={200:2)i4

D. (512.125);9 = (2000.02),

Choose the correct answer from the options given below:

1. A and B only

f-2

. A and C only
3. B, C and D only

4. A. B and C only

Question Number : 34 Question Id : 3421234016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S (L), 5 M 3 YUTTell  3idh L Bl UaiRid Hdl ¢, dl (9 1 Y & Ul GHHE Ul g2

10 = (1000000000.001),
10 = (1000.1)g

10 = (200.2)1¢

10 = (2000.02)4

[ e R —— I =
[
h

T .
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- U T faaedl # ¥ @7 IR 31 907 DI
1. &dd A 3R B
2. Had AR C
3. $HddB. C 3R D
4. BdAA, B3R C

Question Number : 35 Question Id : 3421234017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(ICT Term) (Description)
A | Authentication | [ | Identifies which device 1s connected at a given IP address
B. |Biometrics II. | Relies on certain unique characteristics of human beings such as retina scans
c | 1P Address 1L N erifies that data comes ﬁ’om a secure .a.nd trusted source and works with
encryption to strengthen internet security
D. |MAC Address | IV, |Identifies where on the network a device 1s located.

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-III

(B

-A-IIL B-11, C-1IV, D-1

3. A-IL, B-IIL C-I, D-IV

4. A-IV, B-111, C-II, D-1

Question Number : 35 Question Id : 3421234017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I g I
(afrggré’rua (Ferom)
A |ymoE L |ved 3 G sy R Je 49 & UgaH Sl g
B. |SiafidE 1L |Hsaf it e Tb oY sfagy fafy sifteam i R S gl

. UE FITUd Bl & fob ST21 U RIG 9 fae-1g &id ¥ 31 781 § 3R
C.[sRdiTgy | I ST YRA&T i TG B o DIV b HIY HIH Bidl g |

D. [THUWUSY | IV. |8 UgdH &l ¢ [ Hedd UR U7 Pel SHaleyd g

A fau U faded] # U It 3R D1 994 DIfoIs:

1. A-I, B-II, C-IV, D-III

2. AIL B-II, C-IV, DI
3. A-II, B-TII, C-1, D-IV

4. A-IV, B-III, C-II, D-1

Question Number : 36 Question Id : 3421234018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indigenous Knowledge and Resource Management System is at best can be considered as-

1. Mitigation Response

f-2

. Adaptation Response

3. Decarbonization Response

=

. Ethical Response

Question Number : 36 Question Id : 3421234018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS [ T THTeH Yele YUTTel Sl Faiad =0 § 9 1 9 o1 T S ool 82
. 3TH 0T (b

ERCEEESER)

a1 srfoman

4. qfd® b

—

f-2

L8]

Question Number : 37 Question Id : 3421234019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cloudless night with low wind speed indicates:

1. Turbulent Atmosphere

t2

. Unstable Atmosphere

L

. Neutral Atmosphere

4. Stable Atmosphere

Question Number : 37 Question Id : 3421234019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

99 argaT & Ty HERigd A 9 O 9 1 Hdod Bl 82
L. T TS
2. RRR qIgHSd
3. (RO agHed
4. R IrgHsa

Question Number : 38 Question Id : 3421234020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following Indian States in descending order according to their climate vulnerability
(Starting from most vulnerable to least vulnerable)

A. Uttar Pradesh
B. Jharkhand

C. Maharashtra
D. Manipur

E. Punjab

Choose the correct answer from the options given below:

1.D. B, C AE

b2

AGEGA DB
3.B;A;D.E, C

48, E.BC.0D

Question Number : 38 Question Id : 3421234020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{79 RG] DI, 7] STcdarg U &1 €fF Y Haiitd ¥ GAdq & farig] vH |
AR HIfoTL:

A. TR USY
B. JIRQUS

C. HERTE
D. AR
E. Golrd
A feu T fawedl § 9 o IR B 99 DIIT;

1.B. B, C A E

[

AGEGA DB
3.B; A, D.E,C

4. A,E,B,C,D

Question Number : 39 Question Id : 3421234021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are the renewable energy resources?

A. Biodiesel

B. Nuclear Energy

C. Solar Energy
D. Hydroelectric Energy

E. Wind Energy

Choose the correct answer from the options given below:

1. A, B, C.Donly

2.B.C.D.E only

3.C.,D.E.Aonly

4.E, A, B only

Question Number : 39 Question Id : 3421234021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 H U ® - IF AdiHruiig 3ol & d91eH g2
A. 911 SioTd
B. AMYBH T ol
C. R Sl
D. UH fdoTell 3ol
E. d1g $oll

4 fau U fasedl § 9 ¥8T 3R &1 994 DI
1.Hdd A, B, C 3R D

. $ddB.C,D 3R E

3. $HddC, D, E 3R A

4. HIAE,AINB

B

Question Number : 40 Question Id : 3421234022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

Choose the correct answer from the options given below:

1

(]

Question Number : 40 Question Id : 3421234022 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
(Sustainable Development Goals - SDG)|  (Goal Number)
A | Zero Hunger I |SDG-13
B. |Suvstainable Cities and Communities | II. | SDG-7
C. | Affordable and clean Energy III. | SDG-2
D | Climate Action IV, | SDG-11

. A-II1L, B-1V, C-II, D-1

. A-L, B-11, C-IV, D-III

. A-IIL, B-1II, C-1, D-IV

. A-IV, B-1, C-III, D-II

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

A | T e I |TgStei-13
B. |HURUg T dYqe™| 1. | TH St wil-7
C |TefaawE=Fal | Il |Tgdieia
D. |Scar] dRiare! IV. | g St efl-11

A U U 9 edl § 4 I8t 3R 31 I999 BITIT;

1

(B

Question Number : 41 Question Id : 3421234023 Question Type : MCQ Option Shuffling : No

CA-IITL B-IV, C-I1, D-I

- A-I B-1I, C-IV, D-III

. A-IL, B-IIL C-I, D-IV

. A-IV, B-1, C-III, D-II

Correct Marks : 2 Wrong Marks : 0
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In ancient India, Ujjain was famous for the study of:
1. Anthropology
2. Astronomy
3. Archaeology
4. Geology

Question Number : 41 Question Id : 3421234023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UTeF YRA § Iwid [ 399 g URTS 412
BCACEIC]
2. TN faiH

3. IRTdd fa3

4. Y fagm

Question Number : 42 Question Id : 3421234024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Sanskrit Commission (1956-57) was headed by-

1. Sukumar Sen
2. UN. Dhebar
3. Suniti Kumar Chatterji

4. V.T. Krishnamachari

Question Number : 42 Question Id : 3421234024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421234025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following agencies launched the “International Environmental Education
Programme™?

1. UNESCO
2. UNEP
3. IUCN

4. GEF

Question Number : 43 Question Id : 3421234025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafafad 9 o1 9 eoldl Ry yaiaruiiy fRign sraiea- o1 SRy faar
L TPl
2. g

ST

4.5 UH

P8

Question Number : 44 Question Id : 3421234026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following institutions according to their vear of establishment (from earliest to the
most recent)

A. National Council of Rural Institutes (NCRI)

. Indian Council of Social Science Research (ICSSR)
. Indian Institute of Advanced Study (ITAS)

. Indian Council of Historical Research (ICHR)

. Indian Council of Philosophical Research (ICPR)

mOnNnw

Choose the correct answer from the options given below:

LA BC I E

b2

CD,BEA
3. B.EAC.D

4.C.B.D.EA

Question Number : 44 Question Id : 3421234026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad SRl &1 Ib] RIGA a8 & IR AdRYd DIT (HRY Y 00 & HH 1) |

A. TSTT ITHIOT ST TREE (T 9 3R 311%)

B. YR IS [G3H S8 GRS (378 4l T U 3R)
C. YR 3I7d AT TR (3115 318 T TH(

D. YRd VeI S84 gRye (3173 Tl UF 3R)

E. YR GIRIFS M gRyg (37s I Ui 3(R)

A feu U fashedl § 9 ol IR B 99 HIIT:

1. A,B,C,D,E

I~

DB EA
3.B,E.A,C,D

4. C. B, D, E A

Question Number : 45 Question Id : 3421234027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to NEP-2020. which is/are not under curriculum framework of adult education?
A. Critical Life Skills
B. Vocational Skills Development
C. Continuing Education
D. Art in Education
E. Basic Education
Choose the correct answer from the options given below:
1. A only
2. B and C only
3.D only

4. A. D and E only

Question Number : 45 Question Id : 3421234027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT R <fifd-2020 & SFUR TG e UrsT=at S & i Fgfiad § € BiF g1

A. Tgdqyf Siia- HIrd

B. G4 I [dH1Y
C. ard f2rem

D. f1en @ &

E. gfarct faren
A fau U fasedl § 9 ¥8T 3R &1 994 Do
1. Had A

2. HIAdB 3R C
3. %HadD
4. Hdd A, D 3R E

Sub-Section Number : 3
Sub-Section Id : 342123163
Question Shuffling Allowed : No

Question Id : 3421234028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix
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Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions that follow:

Stone carvings are other impressive pieces of visual art of Gujarat. The State is also a repository
of numerous places of historical importance, which attract thousands of people from all over the
world. The city Junagadh is adorned with beautiful shrines of Hindus. Jains and Muslims. In
Junagarh caves, a huge boulder preserves to this day the fourteen rock edicts inscribed by
Emperor Ashoka in the 3rd century BCE. Besides. one can also see here classic examples of rock
cut architecture in the Chitya Halls and the sculpted pillars of the caves. Maru-Gurjara or
Chalukyan style architecture can also be seen in the Sun Temple of Modhera. Similarly. one can
see architecture belonging to the Chalukya (Solanki) period at Adalaj. a heritage site protected by
the Archaeological Survey of India in the Gandhinagar district. Hence an interesting depiction of
*Ami Khumbor’(symbolic pot with water of life) and “Kalp Vriksha’ (tree of life) carved from a
single block of stone present a marvellous example of the State’s sculptural heritage.

Copper has been in use in Gujarat since the times of the Chalcolithic Age. Its traces are found in
the ruins of the Indus Valley Civilisation at Lothal and Dholavira. The town of Shihor is still
continuing that glorious tradition of metal craft with its 'Kansa’ (Bell metal) works especially pots
and pitchers of various sizes.

Sub questions

Question Number : 46 Question Id : 3421234029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tunagarh is known for beautiful shrines of which of the following combination of religions?

1. Hinduism, Buddhism, Christianity

t-2

. Christianity, Hinduism, Jainism
3. Hinduism, Buddhism, Islam

4. Islam. Hinduism, Jainism

Question Number : 47 Question Id : 3421234030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many edicts of Ashoka are preserved on a boulder inside the Junagarh caves?

1. Ten

]

. Twelve

3. Fourteen

4. Thirteen
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Question Number : 48 Question Id : 3421234031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which style of architecture is seen in the Sun Temple of Modhera?
1. Maru-Gurjara
2. Solanki
3. Cholan

4. Khamboj

Question Number : 49 Question Id : 3421234032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A heritage site, protected by ASI in Gandhinagar district is known as:

1. Adalaj
2. Khumbor
3. Dholevira
4. Shihor

Question Number : 50 Question Id : 3421234033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following places is not associated with either traces of copper or with copper
works?

1. Shihor
2. Lothal
3. Dholevira

4. Modhera

Question Id : 3421234028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frafefad e tees vl & IR difve -
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IS WIFT BT HSR ¢ o AT W) & goIRl al S iNd gid &1 SHTe ¥R ¥ fggait,
Sl 3R HaAFl & S U1ite Rid [d g1 SHAFTe ©f Thied # Uh Rards R d dieg
fRIeTTelRg 3fd dd GRId § ol diasl qalsc] 3.9, ¥ 9HIe 3=11D - Icb 0l HRarr U1l 39d
3{cirdT Tgl fare grall § Il &l HIedh 941U U RITA d4T Th1sH § gfd ¥4 GU 170 wndf
& QRIA 3aTgR0l Ui ¢ Sl Yabd g | Glexl & g dick H UR=A[oR g1 A il & -
Ul G ST ebd § 1 341 UhR YRITY YRTdd A& gRT IR fSrd o GRiEd srsresl Add
eRIEY R UR A1dad (Hlde!) I Y Yaled aRdedl ol offl 9l ¢ I81 Ud g [RaRds IR
Ih 0] <3l GER: (Sila- oidl Tigd Hicbidd ) 3R BHegdel (Siia- ol 3&f) B quiH, Y
& RTT B eRIGT BT IH ¥ I8 0 Udd DRl g | ORI H T TR 71 & I 9 gl didl
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20 g U SId ¢ 1 RIGR 9 wer 4 st off e1diRiey &t gg TRawdl tuRl oI’ g wigl
&1l (dd Hed) U f928 =0 9 {954 STHR & §dd 3R 99 §49U d § |

Sub questions

Question Number : 46 Question Id : 3421234029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHNTG, fFHfeiad fa yv-agl & xavit nfife widl & fore glawend g2
1. Towq o, sl o, Sars o
2. 3918 i, fewg yf, o e
3. fe ud, 9 o, g
4. 3%, fg=g o, Siew

Question Number : 47 Question Id : 3421234030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SETTE @1 TH13 @1 ik te Rards TR 3@ & [dha- Jodesl (BXHH) GiEd 67

1G9
2. dRkg
3.9
4.9
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Question Number : 48 Question Id : 3421234031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hiex fyd g Hicx H 141w Al urg il g2
1. AREATSR
2. Hicidl
3. did g1 9§ Heifed
4. G

Question Number : 49 Question Id : 3421234032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Q1A Ya&f0T (T TY 313) R TR § Wigd eRig ©d faed ¢ -
1. STl & TYH
2. GHR S EUH
3. IR & U |
4 RER S = H

Question Number : 50 Question Id : 3421234033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafeiad SH-91 -IF, 9 dl 919 gl SR = 81 a9 Siadl 9 ddfed g2
1. RIgR

aYd

3. YIcIdRT

4. TG

B

Public Administration

Section Id : 34212356
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123164
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421234034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a feature of ‘The New Deal’ in USA?

1. Politico-administrative intervention for economic growth

t2

. Sophisticated analysis for social change

3. Projects like Tennessee valley authority (TVA)

£+

. Development of policy decision making

Question Number : 51 Question Id : 3421234034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrafaRad 9 ¥ S U Iy SHRE | G g Sie @1 fa=ivdr Tgl g2
1. 3 Fafe (A1) & fou IsHITdS - RIS Ugd
2. FrATTS UREd & g giepd fawermor
3. Sf it el iR (1w Sl uRaiemg
4, -fifd Foig &1 fadbry

Question Number : 52 Question Id : 3421234035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To understand patterns and regularities in administration and to enhance theory construction
which one of the following is helpful?

1. System approach
2. Ecological approach
3. Cross-cultural studies

4. Structural-functional approach

Question Number : 52 Question Id : 3421234035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g2 9§ UidaHEl (e-d) SR [Haffddist o gag- sk Rgid (et sidgis gq
fafafad O 9 9 ygs g2

L. YUTTell SURTH
2. giRfRfds g Uy
3. 3d. O idd T

4. YA S-Ub D SN

Question Number : 53 Question Id : 3421234036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book “Modernization of Bureaucratic Polity in Thailand’ is written by :-

1. Milton Esman

-]

2. Ferrel Heady
3. James Coleman

4. FW. Riggs

Question Number : 53 Question Id : 3421234036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

49/136



8/23/24, 6:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 54 Question Id : 3421234037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*“The Parish Councils”- a local government body is found in.
1. USA

. Japan

t2

3. England

4. Germany

Question Number : 54 Question Id : 3421234037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R IWHR D1 TR BRI Bol UlS Sildl g2
L. T 1Y SHRDT

2. 9l4Tq

3. 37clS
4, S

Question Number : 55 Question Id : 3421234038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following is not an overlapping feature of prismatic society as said by F.W.
Riggs?

1. Nepotism
2. bazar-Canteen Model
3. Formalism

4. Poly-Normativism

Question Number : 55 Question Id : 3421234038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘qu?%sﬁq\ g & SyUR FgfeRad 4 9 o4l ggani—a garet 4 sfqeam- faeed
gl g2

1. HIS-HdTSIdaTG

2. dER-b< I Aled

3. ARG AT

4. SgHIGAIG

Question Number : 56 Question Id : 3421234039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the direct representative of the Mughal government at the local
level?

1. Shigdar

I

. Zamindar
3. Faujdar

4. Khazandar

Question Number : 56 Question Id : 3421234039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 3 9 o RIFY TR R Td RHR &I el UidH=ie 41
1. RrgR

 SHIER

3. BINIGR
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f-2

Question Number : 57 Question Id : 3421234040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The State Finance Commission is a :

1. Legal authority

t2

. Administrative authority

L

. Regulatory authority

4. Constitutional authority

Question Number : 57 Question Id : 3421234040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISy fad g g H O @1 g
. faftre Tifeard

2. YRS UIfdaRT
3. (FaMS Ui R
4. TS USRI

Question Number : 58 Question Id : 3421234041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The President rule was first imposed in which one of the following states?

. Kerala

t2

. Punjab
3. Madras
4. Mysore

Question Number : 58 Question Id : 3421234041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 1 9 fov o  geuyw Ay afd < SifeRifud faar mr ar
1. B

2. G9Td
3. 0gg

£ AR

Question Number : 59 Question Id : 3421234042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following described the village is nothing but * a sink of localism and a den of
ignorance’.

1. Babu Rajendra Prasad
2. B.R Ambedkar
3. Mahatma Gandhi

4. Charles Metcalfe

Question Number : 59 Question Id : 3421234042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421234043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term Marbal-cake fedralism 1s used for

—

. Quasi-federalism
2. Cooperative federalism
3. Unitary federalism

4. Comparative federalism

Question Number : 60 Question Id : 3421234043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aled-hd GHdIg Ug fhdd el Fgad fhar Sirdl g2
1. G-OYdig
2. JgUNTHS 944G

3. UhIdHD HHdlq

4. JOTH® YHdlg

Question Number : 61 Question Id : 3421234044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Abolition of diarchy and introduction of provisional autonomy was effected through :

l. Indian Council Act, 1909
2. Government of India Act, 1919
3. Government of India Act. 1935

4. Indian Independence Act, 1947

Question Number : 61 Question Id : 3421234044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead d 9 foud 11y 9 g4 M8 &1 33 R Ui1d T[RRI 1 UHTiad foar
U7

1. R gikee a9, 1909

YR WRHR AHGHTH, 1919

2

3. HRd WHR HEHTH, 1935

4. HIRd Tad=dr 914, 1947

Question Number : 62 Question Id : 3421234045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In New Public Service Theory public servants are responsible to

l. Citizens
2. Institutions
3. Customers

4. Clients

Question Number : 62 Question Id : 3421234045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421234046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not included in McClelland theory of need?

1. Achievement
2. Reward

3. Power

4. Aftiliation

Question Number : 63 Question Id : 3421234046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 H U 31 Adclcle & Aahdhdl & [gid § giEfed ol o2
1. 3Uciis

QPR

3. Qifdd

4. 9dyq

f-2

Question Number : 64 Question Id : 3421234047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among the following coined the term self-actualisation?

1. Abraham Maslow
2. Frederick Herzberg
3. Kurt Goldstein

4. Kurt Lewin

Question Number : 64 Question Id : 3421234047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3RS e DI (9 H T fha- g1 41
1. 3SITeH ARl
2. SR golati
3. ®E Mg
4, ¢ ofd

Question Number : 65 Question Id : 3421234048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following said that members of a bureaucracy need statesmanship which cannot
be tested through an examination?

1. Hegel
2. Karl Marx
3. Max Weber

4. Robert Merton

Question Number : 65 Question Id : 3421234048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. g

2. DIt A
3. AT 4R
4. M€E A

Question Number : 66 Question Id : 3421234049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The *Administrative Man’ of Herbert Simon bridges

1. Psychological and economic man
2. Psychological and normative man
3. Psychological and rational man

4. Economic and normative man

Question Number : 66 Question Id : 3421234049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ga¢ 930 &l ‘UNHHG aAfd (Teiiied o) Fafiafad 4 9 {dds & &1 9d ¢:
1. gIaHS 9 anfdfe ofad

! =
l

PRI
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& d AH$ Afdd

Question Number : 67 Question Id : 3421234050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The origin of Organisation Development is attributed to :

1. Warren Bennis

2. Kurt Lewin

3. Thomas Fitzgerald
4. Chris Argyris

Question Number : 67 Question Id : 3421234050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W13 [APTH &1 IR BT 99 9 H I fbd Sdr g2
|, aRA 999

2. P dfd
3. YTHY fheoiies

4. Topg 3rfeiy

Question Number : 68 Question Id : 3421234051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who classified bureaucracy as representative, party-state, military-dominated, ruler-dominated,
and ruling bureaucracies?

|. Peter Blau
2. Merle Fainsod
3. FW Riggs

4. Karl Marx

Question Number : 68 Question Id : 3421234051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421234052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the obligations of a public servant are above personal interest: it is called as
1. Integrity

2. Impartiality

L

. Objectivity

4. Honesty

Question Number : 69 Question Id : 3421234052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<1 fr il TP Yoo & a1 il fed W W BidT ¢ 1 34 Hol Sl ¢:
L. HAHSdl
2. fmgerr
3. GEIFET
4. SAMER]

Question Number : 70 Question Id : 3421234053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is a value addition in Public-Administration through the creation of
connected system that facilitate better decision making, better coordination and enhance services
to the citizens and businesses?

1. Collaborative governance

[

. Interoperability
3. Deliberative Democracy
4. Repositioning public administration

Question Number : 70 Question Id : 3421234053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiad § O S99 Ydied uonel Yo & Jrend 9 did UeHE H U e dadH g, off
&lsda AU, dgak YA H 9ghd gidl ¢ 3R AFTRSG| Ud aq/| & [ofu araff &1

e Dl g
1. GgaITIcD A
2. 3fd: U
3. fan=it didhda
4. i =g yfawimg- (Rarforif=)

Question Number : 71 Question Id : 3421234054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following coined the term ‘techno structure’ to refer the power of knowledge in
the hand of specialists?

1. Gilbraith
2. A Downs
3. M.N Zald

4. B.E Wiliamson

Question Number : 71 Question Id : 3421234054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 72 Question Id : 3421234055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a proportional tax?

l. Income Tax

2. Goods and Service Tax

L

. Capital Gains tax

4. Professional Tax

Question Number : 72 Question Id : 3421234055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421234056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 62/136



8/23/24, 6:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

The method of organizing budget by programmes and focusing on measuring results is known as

l. Zero- based budget
2. Sunset budget
3. Performance budget

4. Line item budget

Question Number : 73 Question Id : 3421234056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 74 Question Id : 3421234057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under which Article of the Constitution of India is the provision for the passage of Appropriation
Bills mentioned?

1. Article 112
2. Article 114
3. Article 115

4. Article 116

Question Number : 74 Question Id : 3421234057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 75 Question Id : 3421234058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following department looks after the banking, insurance and investments in the
Ministry of Finance?

1. Department of Economic Affairs
2. Department of Expenditure
3. Department of Revenue

4. Department of Economic Planning

Question Number : 75 Question Id : 3421234058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad H O SI=91 [aunT fad Harad H Jid, S1H91 2R a2 & Srf O Yeied g2
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Question Number : 76 Question Id : 3421234059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Provident Fund, a social security scheme for emplovees is accounted under which one of the
following?

. Consolidated Fund of India

(]

. Contingency Fund of India
3. Public Account

4. Employees Provident Fund Organization

Question Number : 76 Question Id : 3421234059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421234060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The rational budgeting system concerned inputs, outputs and outcomes which analyse the cost-
benefits of alternative programme is called

1. Line-item Budget
2. Performance Budget
3. Planning Programming Budgeting System

4. Zero-based Budget

Question Number : 77 Question Id : 3421234060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 78 Question Id : 3421234061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a Public Sector undertaking?

1. Balmer Lawrie's Co.Ltd
2. Hindustan Organic Chemical Ltd
3. Videsh Sanchar Nigam Limited

4. Indian Drugs and Pharmaceuticals Ltd

Question Number : 78 Question Id : 3421234061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421234062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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NITI Aayog role in policy process is:
1. Setting policy goals
2. Provide policy advice
3. Policy evaluation

4. Policy monitoring

Question Number : 79 Question Id : 3421234062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 80 Question Id : 3421234063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Intersectoral administration is related to:

1. It negates the Public Private Partnerships

-]

2. Purpose of strengthening public authorities

P8

. It supports pure government-institutions

4. Purpose of achieving specific policy goals

Question Number : 80 Question Id : 3421234063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 3421234064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a paradigm in Public Policy making?

l. Incrementalism
2. Rational
3. Power regulation

4. Strategic planning

Question Number : 81 Question Id : 3421234064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421234065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Linear programming is a:

1. Used in a series of linked situation
2. Waiting list service mechanism
3. Mathematical technique for limited resources

4. Used 1n a quantities of goods

Question Number : 82 Question Id : 3421234065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421234066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is most appropriate in empirical research?

1. Inductive method
2. Deductive method
3. Scientific method

4. Normative method

Question Number : 83 Question Id : 3421234066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 3421234067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a feature of Survey Research?

1. Give exact measurement of population

t2

. To draw sample from the population
3. Usetul in census

4. Can deal with many variables

Question Number : 84 Question Id : 3421234067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 3421234068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sociometric analvsis explains which one of the following?

. Behaviour of individuals

t2

. Relationship between individuals in a group
3. Relationship between groups

4. Modification of behaviour among individual in a group

Question Number : 85 Question Id : 3421234068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421234069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

National Commission for protection of Child Rights (NCPCR) was established by:

1. The executive order of the Cabinet

[

. The Act of the Parliament

3. The resolution of Parliament

4. The decision of the Council of Ministers

Question Number : 86 Question Id : 3421234069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 3421234070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Elderly in India 2021' report was published by:
1. Ministry of Statistics and Programme implementation
2. Ministry of Labour and Employment

3. Ministry of Health and Family Welfare

4. Ministry of Social Justice and Empowerment

Question Number : 87 Question Id : 3421234070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421234071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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*Open Cities Framework’ and the use of digital tools for feedback was proposed by:
1. NITT Aayog

2. Ministry of Urban Development

_15™ Finance commission

L

4. Second ARC

Question Number : 88 Question Id : 3421234071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421234072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kumar Mangalam Birla Committee (2000) was related to:

1. Code of business ethics

]

. Code of conduct in administration

P8

. Corporate Governance

Y

. Corporate Social responsibility

Question Number : 89 Question Id : 3421234072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 3421234073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the techniques is called “improve peacetime decision-making’.

1. Management Information systems

t2

. Operational Research
3. Cost-Benefit Analysis

4. Knowledge Management

Question Number : 90 Question Id : 3421234073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 3421234074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following thinkers are not associated with Comparative Public Administration?

A. Ralph Braibanti
B. E. N. Gladden

C. Ferrel Heady

D. Christopher Hood

Choose the most appropriate answer from the options given below:

l.A. Band C Only
2.B, C and D Only
3. Aand C Only

4. B and D Only

Question Number : 91 Question Id : 3421234074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 3421234075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are not features of Development Administration?

A. Focus on Organization

B. Promotes Socialization

C. Client-oriented approach

D. Promotes administrative change

Choose the most appropriate answer from the options given below:

l.A. Band C Only

2

.B, C and D Only
3. Aand B Only

4. C and D Only

Question Number : 92 Question Id : 3421234075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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t2

Question Number : 93 Question Id : 3421234076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are features of ideographic orientation to Comparative Public
Administration?

A. Historical episode

B. Correlation with variables
C. The culture area

D. Regularities of behaviour

Choose the most appropriate answer from the options given below:

1. Aand B Only

b2

.C and D Only
3. Aand C Only

4. B and D Only

Question Number : 93 Question Id : 3421234076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 3421234077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 77/136



8/23/24, 6:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

According to Riggs. which of the following are functional requisites for a society?

A. Economic

B. Social

C. Religious

D. Communicational

Choose the correct answer from the options given below:

1. A, B, Cand D Only
2. A.Band C Ounly
3.A.Band D Only

4. A, Cand D Only

Question Number : 94 Question Id : 3421234077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 3421234078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are considered as discretionary powers of the Governor of a state?
A. Appointment of Chief Minister when no party has absolute majority in the Assembly
B. Appointment of the speaker of the Assembly
C. Dismissal of a Minister
D. Giving assent to a bill passed by the Assembly

Choose the correct answer from the options given below:

1. A, B, Cand D Only
2. A.Band C Ounly
3. Aand D Only

4. B and C Only

Question Number : 95 Question Id : 3421234078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. HAAB 3R C

Question Number : 96 Question Id : 3421234079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following factors are consider while selecting an officer for the post of Chief
Secretary?

A. Seniority
B. Service record, performance and merit
C. Confidence of the Chief Minister
D. Advise of Cabinet Secretary
Choose the correct answer from the options given below:
1. A Only
2. Aand B Only
3. A.Band C Only

4. A, B, Cand D Ounly

Question Number : 96 Question Id : 3421234079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 3421234080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following books are written by Robert T Golembiewski?

A. Organization Development in Public Administration
B. Behavioral Approaches to Public Management

C. Perspective on Public Management

D. Management diversity in Organization

Choose the correct answer from the options given below:

l.A. Band C Only

2

.B, C and D Only
3.A.Band D Only

4. A, Cand D Only

Question Number : 97 Question Id : 3421234080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 3421234081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following characteristics of strategic decisions:

A. Taken at the top of organisation.
B. It has high risk.
C. Rationality is sole criteria in decision making.
D. It involves in new programme.
Choose the correct answer from the options given below:
1. Aand B Only
2. A.Band C Ounly
3.A.Band D Only

4. A. B, Cand D Only

Question Number : 98 Question Id : 3421234081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. $dd A, B
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3. Hdd A, B, D

4. Bdd A.B.C.D

Question Number : 99 Question Id : 3421234082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The extent of span of control is determined by
A. Management abilities
B. Quality of persons supervised
C. Nature of work
D. Effectiveness of Communication
Choose the correct answer from the options given below:
l.A. Band C Only
2.B, C and D Only
3.A.Band D Only

4. A. B, Cand D Only

Question Number : 99 Question Id : 3421234082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:
1. HId A, B, C
2. H4d B, C, D
3. Hdd A, B, D

4. Bdd A.B.C.D

Question Number : 100 Question Id : 3421234083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Research is an activity that lead us to finding:
A. Verifving the available knowledge
B. Suggestions for future research

C. New facts and information
D. Raising question on things that are difficult to understand as per existing data

Choose the correct answer from the options given below:

l.A. Band C Only
2.B, C and D Only
3.A. Cand D Only

4. A. B, Cand D Only

Question Number : 100 Question Id : 3421234083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QMY U U] foh ey g ol gH [Hvhy d@ o SIdl g:2

A, Y] AT pT JAUA

B. YAl MY g Y31
C. 4 9 9 I o

D. 34 96l & R § Uy IS S [dedH STel & 314R IR Y93 $idd g
A fqu U fq&edl O 9 g7 IR &I 999 DIfWIT:

1. hdd A, B, C

2.$dd B, C 3R D

3.had A, C 3R D

4. $dd A, B, C 3RD

Question Number : 101 Question Id : 3421234084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

84/136



8/23/24, 6:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which of the following methods are useful in the study of organizational behaviour
A. Participant observation
B. Non-participant observation
C. Interview schedule
D. Historical method
Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A.Band D Only
3.A.Band C Ounly

4. B, C and D Only

Question Number : 101 Question Id : 3421234084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hia® adgR & 39 gd 9 § | &1 9 it Syl ¢

A, Ufqunr Uefor
B. TR UfaHT Uem

C. IR ATl
D. UfdgIig falg

-4 fau U fasett # ¥ FT IR &1 99 DI
1.PdA A, B, C 3R D
2. Had A, B AR D
3. HadA, B3R C
4.%HddB, C 3ARD

Question Number : 102 Question Id : 3421234085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The characteristics of the experimental method in research is:
A. It follows the law of multiple variables
B. It is the laboratory method of research and has borrowed from pure sciences
C. It follows the scientific method
D. A researcher purposefully can check something in the environment.
Choose the correct answer from the options given below:
l.A. Band C Only
2.B, C and D Only
3.A. Cand D Only

4. A. B, Cand D Only

Question Number : 102 Question Id : 3421234085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yy H Ui 9 & fafvdm g

A. I 95 (90 &1 3R HIdl §

B. g Y ! YGITRITE [af¥ g 3R 39 [9g fa9H 9 femrmn g

C. O aqH® fafy &1 SRu axdl §

D. qMYGHdl Gigegyul diih 9 TaRu § $&-$ URddT & Ydbdl g

-4 fau U fasett # ¥ FT IR &1 99 DI
1.Hdd A, B3R C
2. $Had B, C 3R D
3. $had A, C 3R D
4.Hdd A, B, C 3R D

Question Number : 103 Question Id : 3421234086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are useful in case study research.
A. Study of Individual or group
B. In the field of education
C. In the field of comparative studies
D. In theory construction
Choose the correct answer from the options given below:
l.A. Band C Only
2.B, C and D Only
3.A. Cand D Only

4. A, B and D Only

Question Number : 103 Question Id : 3421234086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UehRUT 3T Y H (A9 H U &1 3ughfi g2

A. A 3YaT YHE BT 3T
B. e & e o

C. daTdD T &b e |
D. [¥<id @ d

-4 fau U fasett # ¥ FT IR &1 99 DI
1.Hdd A, B3R C
2. $Had B, C 3R D
3. $had A, C 3R D
4.Hdd A, B 3R D

Question Number : 104 Question Id : 3421234087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Evidence based policy making suggested for New India includes:

A. Launch of National Data Sharing and Accessibility Plan (NDSAP)

B. Data integration and quality assurance

C. Expanding warehousing facilities for storing and integrating data from different sources
D. Collecting data for new measurable parameters using existing government infrastructure.

Choose the correct answer from the options given below:

l.A. Band C Only

f2

. A, B and D Only
3.B. C and D Only

4. A.B. Cand D Only

Question Number : 104 Question Id : 3421234087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= 3fEar & foru ggnfad wea-smenfa Hifa fofoa & wfifea g
A. ST ST FIAHUT 3R I Aol (T.81.89.0 )
B. ST UG 3R Ul a8
c. faftr 9idl ° Se1 4RO 3R GG & 670 G0 glaured &1 faedR Sz

D. [qe/HH IRHRT 81 ST U HRd gU HIUH-I17 U HHE 31 & [elt Sl &l H4g
ERAl

- feu U fasett # ¥ FT IR 1 99 DT
1.Had A, B3R C
2. Hdd A, B AR D
3.%dd B, C 3R D
4. HAd A, B,C 3R D

Question Number : 105 Question Id : 3421234088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are the correct expressions of Incremental paradigm of public policy
making.

A. It was proposed by Charles E. Lindblom

B. Disjointed incrementalism as a description of policy making process

C. It says that the policy maker consider and implement fast changes

D. This paradigm more of political rather redistribution of social values
Choose the correct answer from the options given below:

1. A. Band C Only

2. A.Band D Only

3. A, Cand D Only

4. A B, Cand D Only

Question Number : 105 Question Id : 3421234088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafdRad H U &F U did Hifd Mg & 2ifyasl ufdas &1 9l siiiyeafddai g2

A. 2OD I1cd 5, fefgsad A uidure faoar ol
B. Hifd fvig= ufchar & f[9arur & Tu H srgdd 3ffigigda|

C. 39®1 Hg-l g I ifd Fuidr afd uRad-l W faar iR fharaaT &3d T
D. 4g UfdH Yl gedi & faaru &l da1 1 Irsi-ifde 34 g

-4 fau e fasett # U FT IR &1 99 DI
1.Hdd A, B3R C
2. $hdd A, B3R D
3. $had A, C 3R D
4.Hdd A, B, C 3R D

Question Number : 106 Question Id : 3421234089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following components are related to policy outcome evaluation?

A. Policy goals

B. Programme outcomes

C. Identify target population
D. Measures of Indicators

Choose the correct answer from the options given below:

l.A. Band C Only

2

.B, C and D Only
3.A.Band D Only

4. A, Cand D Only

Question Number : 106 Question Id : 3421234089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiRad § ¥ o199 9edh Hifaid uRomd & e 9 9¢ied g2

A. HITdTTd &g

B. Bid%H el gRomd

C. Ql&d S8l D Ugd= Bl
D. Yhdd| & UM

-4 fau e fasett # U FT IR &1 99 DI
1.Hdd A, B, C

Had B, C.D

3. HddA. B, D

4. HdAA, C.D

I

Question Number : 107 Question Id : 3421234090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Organized Anarchy model of Public Policy implementation is related to:

A. Problem stream
B. Political stream
C. Policy stream
D. Budget stream

Choose the correct answer from the options given below:

1. A, B, Cand D Only
2. A.Band D Only
3.A.Band C Ounly

4. A, Cand D Only

Question Number : 107 Question Id : 3421234090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al Aid fharag- & Wdd SRISHd Hisd SH=Hd g:-

A AW T Uarg U
B. YSHITd® Uaig I
c.Hfdyare ¥

D. §uic Udigd

-4 fau U fasett # ¥ FT IR &1 99 DI
1.%dd A, B, C 3R D
2. Had A, B AR D
3. HadA, B3R C
4.Hdd A, C 3R D

Question Number : 108 Question Id : 3421234091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among the following were Finance Ministers in Government of India?

A. R.K Shanmugam Chetty
B. Charan Singh
C. Madhu Dantavate
D. Subramaniam Swamy
Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A, B and C Only
3.A. Cand D Only

4. B, C and D Only

Question Number : 108 Question Id : 3421234091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiRad O ¥ o1F YRd WReR o fo o=t 242

A. 3R, &. AL o=l
B. T fUg

C. Ay dSdd

D. YsgHUH W]

-4 fau e fasett # U FT IR &1 99 DI
1.%dd A, B, C 3R D
2. HId A, B, C
3.Hdd A, C.D
4. H9AB.C.D

Question Number : 109 Question Id : 3421234092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following is not correct about the commission for Linguistic Minorities:

A. The office of the Commissioner of Linguistic Minority was established in the year 1959.

B. The Headquarter of commissioner's office is at Prayagra]
C. The name of the office was recommended by State Reorganization Commission
D. The Commissioner is responsible to Minority Commission of India

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only

4. A and D Only

Question Number : 109 Question Id : 3421234092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafafad 9 9 oH Ul sieaded] & $gdd & dR J el 481 62

A. YN 308 d & Ydd BT daiad ay 1959 T R fbdm 7 41|
B. & & AT & JEATE YIRS H g |

C. IS0 GIS 3gIT < SUddd Hraferd & 10 &1 31 &l 4|

D. 98 3{gad HRAY fedeiRaid SR & Uid 3TRarl g

-4 fau e fasett # U FT IR &1 99 DI
1. Hdd A 3R B
2. HadB 3R C
3.%ad C 3R D
4. Hdd A 3R D

Question Number : 110 Question Id : 3421234093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are features of Geographic Information System (GIS) data process

A. Capturing
B. Storing
C. Transfering
D. Displaying
Choose the correct answer from the options given below:
l.A. Band C Only
2.B, C and D Only
3.A. Cand D Only

4. A, B and D Only

Question Number : 110 Question Id : 3421234093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 1 O S Yo ga-1 yonferd! &1 Sret ufdan o f[a=ivdrt g

A T S

B. HUSRU

C. RYFTRU &l
D. UG2H &l

-4 fau e fasett # U FT IR &1 99 DI
1.Hdd A, B3R C
2. $Had B, C 3R D
3. $had A, C 3R D
4.Hdd A, B3R D

Question Number : 111 Question Id : 3421234094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Author Books

Richard Bendix | 1. | The Bureaucratic phenomenon

Irwin Swerdlow | II. | Reader in Bureacracy

Michael Crozier| III. | Max Weber: An Intellectual Portrait

ola|w|e

Robert Merton | IV, | Development Administration: Concept & Problems

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-1, D-II
2. A-IT, B-1, C-IL, D-1V
3. AL B-IV, C-1, D-III

4. A-II, B-1II, C-1, D-IV

Question Number : 111 Question Id : 3421234094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

fassfesm | 1 |G oRmis e

g wear | 0 [ g sl

AIgHd IR | 1L | Hader: T gciagaid uide

Iae T V. | STauHe TSHMERH. ST US iac
Aid feu U faded! § 9 el 3R &1 99 HIforg:?

1. A-III, B-IV, C-1, D-II

ola|w|s

2. AL B-1, C-I1, D-IV
3. AL B-IV, C-1, D-TIT

4. A-1I, B-1II, C-1, D-1V

Question Number : 112 Question Id : 3421234095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 95/136



8/23/24, 6:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Match the List-T with List-IT

LISTI LISTII
Term of office of the Governor I. | Article-154
Conditions of the Governor's office II. |Article-136

Powers of Governor to grant pardon etc | III. | Article-138

o|al|w|e

Executive power of state IV, | Article-161

Choose the correct answer from the options given below:
1. A-IV. B-1, C-III, D-II
2. A-IIL, B-IL, C-1, D-IV
3. A-TI, B-IIL, C-TV, D-I

4. A-1, B-IV, C-II1, D-1I

Question Number : 112 Question Id : 3421234095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y G 11 D1 TIdH Pifore
T 1 gt I

A | IS & UE & dRidIa L |3rgwse-154
B. |IoUId & UG & e I | 3w56-156
C. | &HIEH S IAo9uTe ®I Afdadl | UL | Sffwse-158
D. |8 Bl dRER! ik IV. | eff=dE-161

1< 3T U [9hedl § 9 a1 3R &1 994 DI
1. A-IV, B-I, C-IIL, D-II
2. AL B-L C-I, D-IV
3 AT P, GOV DT

4. A-1, B-1IV, C-III, D-TI

Question Number : 113 Question Id : 3421234096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Committee for metropolitan planning | 1. | Article 243 Z

Committee for District Planning II. |Article 243 ZA

Audst of Accounts of Municipalities | III. | Article 243 ZD

o|al|w|e

Election to the municipalities IV |Article 243 7E

Choose the correct answer from the options given below:
1. A-IIL, B-IV, C-I1, D-I
2. A-IV, B-III, C-I, D-I
3. AT B-1, C-IIT, D-1IV

4. A-IV, B-11, C-1, D-III

Question Number : 113 Question Id : 3421234096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y G 11 D1 TIdH Pifore

T I Tt 11
A |TeFR e aiEfa L |3fgwdg 243Z
B. |foren farem ofafa 1L | 3ffaoG 243ZA
C. | RUIfcbT3H o <ivdl o1 cival O | . | Sff=9G 243ZD
D. |Tufadied & Fafaa IV. | 3ff=9G 243ZE

A f6u U f[ddedl § U Tot 3R 1 999 HIoIu;

1. A-IIT, B-IV, C-II, D-1

[

. A-IV, B-III, C-1, D-TI
3. A-IL B-I, C-IIL, D-IV

4. A-IV, B-11, C-1, D-III

Question Number : 114 Question Id : 3421234097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
A | Appropriation Bill I |Article 207
B. |Special provisions as to Financial Ball| II. | Article 205
C. |Vote on Account ITT. | Article 204
D | Supplementary grants IV | Article 206

Choose the correct answer from the options given below:

1. A-1, B-III, C-IV, D-II
2. A-IL B-1V, C-1, D-IIT
3. A-IV, B-III, C-II, D-1

4. A-III, B-1V, C-1, D-II

Question Number : 114 Question Id : 3421234097 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

Tt 1 T 1
A |Tafgn fadgs L |eff=5g 207
B. |fau fasae oq A= wrasi= | 1L | w9 205
C. |dErgH I [3f=5a 204
D. | 3 M IV. | 3F=bg 206

T fSu U f9deal § U 9t 3R &1 994 DIfoIu:

1. A-I, B-III, C-IV, D-II

[

.A-TL B-IV, C-L, D-IIT
3. A-IV, B-III, C-II, D-1I

4. A-II1, B-1V, C-1, D-II

Question Number : 115 Question Id : 3421234098 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

Choose the correct answer from the options given below:

1

(]

Question Number : 115 Question Id : 3421234098 Question Type : MCQ Option Shuffling : No

LISTI LISTII
Officer Responsibilities
A | Wazir I | Intelligence
B. |Mugquaddam II. |Revenue and Finance
C. | Quzi-ul-Quzat | III. | Justice
D | Mir Bakshi IV |Head of the village

. A-IL B-1, C-II1, D-IV

. A-IIT, B-IV, C-1. D-II

-A-IIL B-1, C-IV, D-II

. A-II, B-IV, C-I11, D-1

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1

]

4

Question Number : 116 Question Id : 3421234099 Question Type : MCQ Option Shuffling : No

Mot | o
A |T9R L | ST
B. |g@mEn 11 |XTeRd 3R fad
C. |PTeil-3a-Poid | IL [
D. |HR §ER IV. | T geE

.A-II, B-1, C-III, D-IV

. A-IIL B-1V, C-1, D-1II

. A-IIL B-1, C-IV, D-II

.A-IL, B-1V, C-1II, D-1

Correct Marks : 2 Wrong Marks : 0
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LISTI

Chairperson of Committee

LISTII
Objective/ purpose

A

Kasturirangan Committee

[. |Reforms in Cricket Board

Justice Lodha Committes

II. |Establishment of Central Vigilance Commission

K. Santhanam Committee

II1. |National Education Policy

B
C.
D

I.J. Irani Committes

IV |Formation of New Company Act

Choose the correct answer from the options given below:

1. AL B-11, C-I, D-IV

2. A-1I, B-1, CIII, D-IV

3. A1l B-III, C-1, D-IV

4. A-IIL, B-1, C-II, D-IV

Question Number : 116 Question Id : 3421234099 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

Hﬁﬁ@il&rm&i ai?gﬁmé%ﬁr—r
A |THEEE | 1 |ec s A UR
B. |=ooufd digr i | I | oo Tadvdr ST &1 RO
c. |& gyrmafas | m | e it
D. |& o T ElEfa | v [FudaHt sifafmm o fmfo

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1. A-IIIL, B-IL, C-I, D-IV

2. A-1l, B-1, C-IIL, D-1IV

3. A-IL, B-1II, C-1, D-IV

4. A-1I1, B-1, C-1I, D-1IV

Question Number : 117 Question Id : 3421234100 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Mission Purpose
A | Indradanush I | Transforming Urban Infrastructure
B. |AMERUT II. | Culture of Innovation and entrepreneurship
C. |[DIGITAL INDIA IIT. | Immmunization
D | Atal Innovation Mission (AIM) | TV, | Digital empowerment and knowledge economy

Choose the correct answer from the options given below:

1

(]

.A-IIL B-1V, C-1, D-II

. A-IV, B-III, C-I1, D-I

-A-IIL B-1, C-IV, D-II

. A-IV, B-1, C-III, D-II

Question Number : 117 Question Id : 3421234100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

A |EEew I | e SaEReAE & wUidid &A1

B. |ema IL |93y 3R Igied &1 G&pid

c. |fefoeasfem 11 |dThT®u

D. |3fed Tar4 HEH @ 5. TH) | v, | Fefored QeeRiie o iR 1 e Hdaramy

AT feu U fasedl § U It 3R &1 994 DIIU:

1

]

- A-IIL B-IV, C-1, D-II

. A-IV, B-1II, C-1I, D-1

. A-IIL B-1, C-IV, D-II

. A-IV, B-1, C-1II, D-II

Question Number : 118 Question Id : 3421234101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1I LISTII
Day Date
A | Panchayat Raj Dav [ |21 April
B. | Civil Service Day II. |22 April
C. | Good Governance Day | III. |24 April
D |Earth Day IV |25 December

Choose the correct answer from the options given below:

1. A-I, B-IIIL, C-II, D-IV

(]

. A-TI, B-IV, C-1I1, D-1
3. A-IV, B-II, C-1, D-III

4. A-I11, B-1, C-1V, D-I1

Question Number : 118 Question Id : 3421234101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

ﬁéh;’l ;g%l
damdiae fgad | 1|21 3la
fafaq Sarfeaq | L |22 3l
g feaw | m (25 efa
g feay IV. |25 feTear

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1. A-I, B-III, C-II, D-IV

ola|w|s

]

. A-IL, B-1IV, C-1I1, D-1

3. A-IV, B-1I, C-1, D-III

4. A-III, B-1, C-1V, D-II

Question Number : 119 Question Id : 3421234102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Importance of Administration Thinkers
Administrators are stabilizer of society and guardian of tradition I. | Charles A Beard

Chief function of administrators should be to faciliate social change | II. | Wallance Donham

Breakdown of administration resulted in breakdown of civilization | III. |Paul Pigors

ola|w|e

Administration is key to enduring power in the great society IV | Adams Brook

Choose the correct answer from the options given below:
1. A-IIL, B-IIIL. C-IV. D-I
2. A-IIT, B-TIV, C-I1, D-I
3. A1, B-II, C-III, D-IV

4. A-IV, B-1, C-II, D-IIT

Question Number : 119 Question Id : 3421234102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

wnﬁ;rnﬁ %:rﬁ!?%
A |UEH & REER &R IRERT & AfReE B 1 |acd T anE
B. | U= &l B &Y Umifeid uRkad- &l T §9F1 gF 9liel| | 11 |ard-a sied
C. |w=md & faued of ufvuifa T &1 faged &1 1. |t frme
D. | U= HeH YA H 2fdkd & R §9H & Ja @3 2 V. | TS g

I feu 71U fash et § 9 8T IR $1 994 DIfIT:
I. A-IL, B-IIL C-IV, D-I
2. AL B-IV, C-II, D-I
3. AL, B-II, C-IIL, D-IV

4. A-1V, B-1, C-II, D-III

Question Number : 120 Question Id : 3421234103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concepts of Henri Fayol Explanation
A | Authority [. | Obligation for performance
B. |Responsibility IT. |Right of superior to give order to subordinate
C. |Centralisation I11. | Clear line of authority from top to bottom linking all at all level
D | Scalar chain IV | Decision making authority at the top of management

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-III
2. A-1, B-II, C-III, D-1IV
3. A-IIL, B-IV, C-II, D-I

4. A-IV, B-III, C-1, D-IT

Question Number : 120 Question Id : 3421234103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

%ﬂﬂmﬁaﬂ:&ﬁmﬁt{ F%J;-Hm
A

TSR @i | 1 |Farea & e

B |Statd 1L |3y Bl H1GT CH @1 aiE B HUBR
C. | b= L |9 &R R Sisd gU Y § ¥ Had W 96 UiUeR & WE 3@
D. |&haR oA V. |udeH & 3 02 fAuieE mideR

I feu 71U fash et § 9 8T IR $1 994 DIfIT:
1. A-IL, B-I, C-IV, D-III
2. A1, B-II, C-IIL, D-IV
3. A-IIL B-1V, C-IL, D-I

4. A-IV, B-111, C-1, D-II

Question Number : 121 Question Id : 3421234104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Meaning of Administration hinkers
A | Organisation of man and material to accomplish a purpose I. | Luther Gulick
Organisation and direction of human and material resources to achieve desired 5 s
B. i II. |Felix A Nigro
C D:Iec_non_: coordination and control of many persons to achieve some purpose 11 | pasmer
or objectives
D. Adr_mmstr;_atmp has to do with getting things done with the accomplishment of v LD White
desired objectives

Choose the correct answer from the options given below:

1. A-1, B-III, C-IV, D-II

b2

Question Number : 121 Question Id : 3421234104 Question Type : MCQ Option Shuffling : No

AL B-1, C-11, D-IV

.A-TV, B-11, C-1I1, D-1

. A-Il, B-II, C-IV, D-1

Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

I 11
wmqﬁ;ﬂﬁrm? é@;ﬁﬁ
A | WieH @ Feaifed & @ fae safdd IR 9l &1 WieH L |[RTIeS
- gifesd 199 &1 W & 07T Aa SR 9 & S91eH1 &1 978 Ud fGan- R e
i WW@ ﬁﬁ@waﬁmﬁﬁmmw@ﬁﬁﬁﬁﬂ |
D. |v=meH & gifisd Se2al & Wit & 91y &4 & Usd ol V. |ga Sl age

A U U f[dhedl § 4 9ot 3R &1 994 DIoIU;

-A-I B-III, C-IV, D-II

|

f-2

. A-III, B-1, C-II, D-IV

.A-IV, B-1I, C-1II, D-1

. A-II, B-III. C-IV, D-1
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Question Number : 122 Question Id : 3421234105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
The Group Model I | Organisational chart of Government
The Systems Model II. | Member share common value and having more power

The Institutionalist Model| II1. | System of forces and pressures pushing agamnst one another

The Elite Model IV. | Cyclical and un-ending

ola|w|»

Choose the correct answer from the options given below:
1. A-IL, B-IIL, C-1, D-IV
2. A-IIL, B-IV, C-1, D-II
3. A-IV, B-IIL, C-I1, D-I

4. A-I, B-1II, C-IL, D-IV

Question Number : 122 Question Id : 3421234105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gt 1% 1Y YT 11 B1 e Hifoe
T 1 T 1

g Higd L |SBR &1 G3ATHS dle

YU AlSa | 11 | 960 94 Hedi &l 913l &3d & 3R 34 UY HTHd Aidd il &
YRTare! Aled | 1M1 | faaat &1 Ul SR Uh-gie & [d%G 6+ & (04 Gard SIaT
Hfirera Aied | v [T R siagq

A feU U fadedl § U Igt 3 &1 99 DIfoIU:

1. A-II, B-TII, C-1, D-IV

ola|w|e

2. A-IIT, B-1IV, C-1, D-II
3. A-1IV, B-1II, C-II, D-1

4. A-1, B-11I, C-11, D-IV

Question Number : 123 Question Id : 3421234106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Tvpe of Scale Features
A | Nominal I. | One value is greater than the other
B. | Ordinal II. |Begins with absolute zero point
C. |Interval III. | Qualitative difference between variables
D |Ratio IV |Equal distance between each value

Choose the correct answer from the options given below:

1. AL B-11, C-I, D-IV

(]

. A-IL B-L C-IIL, D-IV
3. AIL B-1, C-IV, DI

4. A-1, B-II, C-III, D-IV

Question Number : 123 Question Id : 3421234106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

- g

A |Tfe I (@ AR I 3w 2
B |¢mE® I |gufg fdg U sy gl e
C. |3 1L |=RT & Heg s SR
D. |urd IV. | U@ JF & He T g3

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1. A-IIIL, B-IL, C-I, D-IV

]

. A-II, B-1, C-II1L D-IV

3. A-IIl, B-1, C-1V, D-II

4. A-1, B-1I, C-1II, D-IV

Question Number : 124 Question Id : 3421234107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
A | National Commission for protection of Child Rights| 1. | 2006
B. | The protection of children from Sexual offences Act| II. | 1933
C. |Central Social Welfare Board L. | 2007
D | Child marriages prohibition Act V. | 2012

Choose the correct answer from the options given below:

1. A-I, B-TV, C-I1, D-III
2. A-IV, B-1, C-II1, D-IT
3. A-IIT, B-IV, C-II, D-1

4. A-II, B-1, C-II1, D-IV

Question Number : 124 Question Id : 3421234107 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y G 11 D1 TIdH Pifore

g I T I
A (TP STET ATERTR HREOT ST I |2006
B. | O HOR1Yl ¥ el o Tamn Gaeh HfEHge| m | 1953
C. |b<1d QHIfed Heamv als . |2007
D. |ard fqare uiauy sifdfag V. [2012

A f6u U f[ddedl § U Tot 3R 1 999 HIoIu;

1. A-I, B-IV, C-1I. D-III

[

. A-IV, B-1, C-1II, D-II
3. A-III, B-1V, C-II, D-1

4. A-II, B-1, C-III, D-IV

Question Number : 125 Question Id : 3421234108 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
A | Neoliberalism I Increase the role of markets and corporate techniques to public
sector
B. |New Public Management II. | Protecting banking and budgeting from democracy
C. |New Institutionalism III. | State is inherently inefficient
fy; |Lom majoritain 1V. | Utility maximization
Institutions i

Choose the correct answer from the options given below:
1. A-II, B-1, C-1II, D-IV
2. A-L, B-III, C-IV, D-II
3. A-IV, B-III, C-II, D-I

4. A, B-1, C-IV, D-II

Question Number : 125 Question Id : 3421234108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore
g At 1

A |F9-3cRaE I | e &3 § gl 3R BIURe ao-im! @ UHe | gig &
B. |94 @i® UaeH 1L |didhda T §fdhT 3R Feie FHaior &1 dvam

c. |Fad=mEre 11 |3 SidfHfed 0 9 AP gl

D. |"R-agHqdE] RNt | v, [IUBIFTe sfibaHian

A1 feu 7T fdsh el § 9 T8l IR B 99+ HIIT;
. A-IL, B-I, C-IIL, D-IV
2. A-I, B-III, C-IV, D-II
3. A-IV, B-III, C-II, D-I

4. A-III, B-1, C-IV, D-II

Question Number : 126 Question Id : 3421234109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following in a chronological sequence of their launching.

A. Pradhan Mantri Awas Yojana (PMAY-URBAN)
B. Atal Innovation Mission

C. Nationak Rural Health Mission

D. Swachh Bharat Mission (SBM)

Choose the correct answer from the options given below:

1.B,C,A,D

t2

.C,D,A, B
3iD,C,B.A

4.C,B,A, D

Question Number : 126 Question Id : 3421234109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafcfad @l 39d TR gH & IR HIdshfid & § Jdfyd Sifsu?

A U ey g (). TH. U 918, - Iig)
B. 3cd AaHy fHgH

C. AP JTHI Ty {79

D. W= HRd fzH (vg o)

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1.B,.C,A.D

f2

B o b X I
32D C. B A

4.C,B,A,D

Question Number : 127 Question Id : 3421234110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following Central Secretariat services cadre in the order of hierarchy.

A. Under Secretary

B. Assistant Secretary/ Section Officer
C. Joint Secretary

D. Director

Choose the correct answer from the options given below:

1.B.A D, C

t2

.C,D,A, B
3.B,D.A.C

4.C,A.B.D

Question Number : 127 Question Id : 3421234110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[

fFafeiad d-a gfaared a1 91l &1 39d UeHBH & SR HaRd HIT:

A. R YHg

B. Ul Tfwd / 3HNT USR]
C. Ygad 9fa

D. [ex®

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1.B,.A. D, C

f2

B o b X I
3B, DA C

4.C,A.B.D

Question Number : 128 Question Id : 3421234111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Bharativa Model of inclusive development includes

A. Sab ka Sath

B. Sab Ka Vikas
C. Sab Ka Viswas
D. Sab Ka Prayas

Choose the correct answer from the options given below:

1.A,B

2

AL BT
3.A,B,D

4. A,B,C,D

Question Number : 128 Question Id : 3421234111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YAGRN [dH N & HRAE Aled § 9ifd o:

A I BT Y
B. Jd &I fddbrg
C. 4 &1 fay™g
D. 9d &1 W

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1. A, B

f2

A B C

3.3)A,B,D

4 A B.C,D

Question Number : 129 Question Id : 3421234112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following reports of 2nd Administrative Reforms Commission in correct sequence

A. Crisis management

B. Ethics in Governance

C. Right to information :Master key to Good Governance
D. Unlocking Human Capital: Entitlements and Governance
E. Public order

Choose the correct answer from the options given below:

1.B,D.C.A.E

b2

G, DA B E
3.4,B,D.E,C

4.D,B,A,C.E

Question Number : 129 Question Id : 3421234112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T URINH® YR SR &1 FEiciRad Rulel o1 9el 3iHd § Said Hife:

A. ddhc gayH

B. Y 1 3R Hifd

C. Y1 &1 AYHR: GRATY & Jo HA

D. U4 sl & (&Y ST ghariRal 3R Mg
E. Yidui-d el

4 feu U fasedl § 9 ¥8T 3R &1 994 DU

LB, D C.AE

t2

C DA BE
3L.ABDEC

4. D, B;A, C.E

Question Number : 130 Question Id : 3421234113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following management systems given by Rensis Likert in correct sequence.

A. Benevolent-authoritative system
B. Consultative system

C. Participative system

D. Exploitive-authoritative system

Choose the correct answer from the options given below:

1.B.C,D,A

t2

.C,A,B.D
3:D,A, B, C

4.A,B,C,D

Question Number : 130 Question Id : 3421234113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y Argd grl Uad 9 Uy yunferal &l 9l H § oIafyd oifolu:

A. [gdBRI - Tamae] ymme
B. TR YolTei

. ufaur yomedl

D. QY& - Jd1dre! Yorel|

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1.B.C. DA

f2

G, B D
32P.A B C

4 A B.C,D

Question Number : 131 Question Id : 3421234114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the correct sequence of elements of management given by Henri Fayol.

A. Organisation
B. Planning

C. Co-ordination
D. Command

E. Control

Choose the correct answer from the options given below:
1. B.A DCE
2: B E D
3 BADE
1. ABDCBE

Question Number : 131 Question Id : 3421234114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl B gRT Ued Uy ddl &l Yol HH H HdRd HIfSU:

A, GITé4d
B. I
C. HHdY
D. dHIH
E. fgzmm

4 feu U fasedl § 9 ¥8T 3R &1 994 DU

LB, A D E.F

2.B.A,CED
3.CB.ADE

4.A,D,C,B,E

Question Number : 132 Question Id : 3421234115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following in the correct sequence of their evolutions in the discipline of public
administration.

A. Motivation- Hygiene theory

B. Ecological Approach

C. Social Systems Approach

D. Scientific Management Approach

Choose the correct answer from the options given below:
1LARBCD
2.D,C.B.A
3. D, C AR
4.A,C,B.D

Question Number : 132 Question Id : 3421234115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeRad i die u=ma- fqug & Sfghma J 98T edhd I HaiRyd ST

A, YR - 3R g
B. URfRfd®g 39rH
C. IS YUTTell SUi™
D. d31fAd Y4 IUrTH

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1..A,B,C.D

2D C. B, A

3D.C,AB

4. A,C,B,D

Question Number : 133 Question Id : 3421234116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The contribution of various thinkers influenced public administration as an academic discipline.
Arrange them in a chronological order

A. Frank J Goodnow
B. Lyndall Urwick
C. Robert- Dahl

D. Chester Barnard

Choose the correct answer from the options given below:

1.A,B,C,D

b2

ACBDC
3.4, CLTB

4.A,D,C,B

Question Number : 133 Question Id : 3421234116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9= [daR®( & INGH 4 Udh SAdIcHd [d9d & &4 H did URrgH & UHIfdd foarl 3o
HIAHHTHR HIRRYd HIfSIT:

A. T o, TeAS
B. fdigq Rfdwd
c.Jldc 8lg

D. ReRX TS

4 feu U fasedl § 9 ¥8T 3R &1 994 DU

1.A,B,C,D

t2

ABB,C
3AC.D.B

4.A,D,C,B

Question Number : 134 Question Id : 3421234117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following in a chronological sequence of their inception in India

A. Decentralisation Commission Report
B. A Committee on plan Projects of NDC
C. National Extension service

D. Introduction of Panchayat Raj

Choose the correct answer from the options given below:
1.A,C.B.D
28 B D C
3. B AD

4.B,C,A,D

Question Number : 134 Question Id : 3421234117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafcfad @ URd H 39d UR™ & 3R $lcldhHd ¥4 Y Adfd HIfHU:

A. fab=iaHeu smanr &1 Rare

B. T4 3I. Ul &1 (Age= uRaieraft iR aifd
C. BT fo¥dR g1

D. GdTd! IS BT URH

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1. AR, D

28 B BC
3.C.BAD

4.B,C,A,D

Question Number : 135 Question Id : 3421234118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct sequence of the concept in public policy as of their inception

A. The Rational Choice Model

B. Technology Assessment Model

C. Public Policy Analysis

D. Strategic Planning Paradigm of Public Policy making

Choose the correct answer from the options given below:
1.A.C.D,B
205 B B
A RBD

4.C,D.A,B

Question Number : 135 Question Id : 3421234118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al A1 & UR™ I 3BT AGURUNSI & ol HH DI UgdH DIoIU:

A. difdvd T Al sSd

B. UIEIfT®] edidh flsd

C. did Hifd fazeyor

D. did ifd (a7 &1 g FHIHES (gl diddH

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

LA BB

2 A DB, C
3.C.AB,D

4.C,D.A.B

Question Number : 136 Question Id : 3421234119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the sequence of the following steps that are integral to evidence based policy making.

A. Dissemination of timely and robust data

B. Integrating data analysis

C. Warehousing facilities for storing and integrating data
D. Collecting data on measurable parameters

Choose the correct answer from the options given below:
1. DB, CA
2.D,C,B,A
3 DACE

4.D,B,A,C

Question Number : 136 Question Id : 3421234119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRad el & 3rghd oI UgdH DIfSTU, il Fied-3mURd Hifd fAuig & forg siftr g2

A. G IR Gdfcd Sl 1 TR

B. Scl (a9 &1 GHEHA

C. Sl & USRI 3R b & ol GUgu &l gfaury
D. 3199 g HHC 8! & 3TYR R Sl dl UHAT]

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1.D,.B,C,A

2D C. B, A
3PACB

4.D,B. A, C

Question Number : 137 Question Id : 3421234120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the chronological order in which the following taxes were introduced in India?

A. Value Added Tax
B. Central Sales Tax
C. Income Tax
D. Wealth Tax

Choose the correct answer from the options given below:

L. C. D s B

2

i, DL B
3.CD, B A

4.C,B,D, A

Question Number : 137 Question Id : 3421234120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRd ¥ G 7V G aRad 3 B I a-HyR UgdH HIflv:

A. Il Yagq o3

B. B fehl B

C. AEHT

D. Y4-TH B (ded ¢ad)

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1. C.DADB

[

GO W b

32CD,BA

4.C,B,D, A

Question Number : 138 Question Id : 3421234121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Chronologically order the establishment of the following regulatory bodies.

A. Telecom Regulatory Authority of India (TRAI)

B. Securities and Exchange Board of India (SEBI)

C. Pension Fund Regulatory and Development Authority

D. Insurance Regulatory and Development Authority (IRDA)

Choose the correct answer from the options given below:
1.B,. DA C
2. B.AD,C
3.B.C.D. A

4.B,D,C, A

Question Number : 138 Question Id : 3421234121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafafad fafHame Ao fd RIH1 S BIdbar{aR HdiRid DI

A. YT XA i fafame Uifedol (71, 3R, U, 315,
B. YR Ufayfd iR faHma a1 (3l

C. UzH 4 fafame ud fadh T uifdeaon

D. §191 fafAamHe vd fasmrg unfeiaul (315, 3R, 1. )

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1.B, DA C

2.B,A,D,C
B0

4.B,D,C, A

Question Number : 139 Question Id : 3421234122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps in sampling process in a sequence

A. Identify the target population
B. Sampling frame

C. Choice of sampling method
D. Size of the sample

E. Collection of sample data

Choose the correct answer from the options given below:
1. B.ACDE
2B D EAE
3B D AEC
4.B.ADCE

Question Number : 139 Question Id : 3421234122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfc=a Uichar O {9 ©edl &l Ugl PHHYR AdRYd DISIT:

A. T SIS B UgdH Bl
B. Ufd9d4 hH

. U=+ fafel &1 984

D. Ufde= &1 THR

E. Uidexl SreT &1 Jugu

4 feu U fasedl § 9 ¥8T 3R &1 994 DU

1L.B.AC.D.E

2.B.D,C.AE

3.B,D.AE,C

4.B,A,D,C,.E

Question Number : 140 Question Id : 3421234123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following 4 phases of Disaster Management cvcle in a sequence.
A. Recovery
B. Mitigation
C. Preparedness
D. Response

Choose the correct answer from the options given below:

1.B.C,D,A

2

B, DA, C
3.B,A,C,D

4.B,D,C, A

Question Number : 140 Question Id : 3421234123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1T Yy deb & FHfeiRad 4 @il & 3fhd § Hafyd HIfSIT:

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1.B.C. DA

[

B, D,A,C
3B, A,CD

4.B,D,C, A

Sub-Section Number : 2
Sub-Section Id : 342123165
Question Shuffling Allowed : No

Question Id : 3421234124 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the following passage carefully and answer the question:

Social theory and social policy in India are deeply interwined, reflecting the country’s complex,
social structure, diverse cultural landscape and historical contexts. Social theories provide
frameworks for understanding the social dynamics, while social policies are designed to address
1ssues such as poverty, inequality and social justice.

Scholars like B.R Ambedkar and M.N Srinivas have significantly contributed to our
understanding of social stratification and mobility. Labour movements, environmental protection
groups and the fight for women’s rights have formed new social movements in India.

Contemporary issues like Globalisation and the rise of identity based movements have impacted
Indian society. and culture. Feminist theories have shaped policies aimed at women's
empowerment and protection against gender-based violence.

Despite well-formulated policies, implementation faces significant challenges, including
corruption and bureaucratic inefficiencies. Striking a balance between economic growth and
equitable social development requires using digital platforms to deliver social services and
improve transparency.

Sub questions

Question Number : 141 Question Id : 3421234125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following explains the relationship between social theory and social policy in
India?

A. Complex social structure
B. Diverse in Culture

C. Historical situations

D. Colonial settings

Choose the correct answer from the options given below:

I.A. BandD Only

B

. A, B and C Only
3.B. C and D Only

4. A, B, C and D Only

Question Number : 142 Question Id : 3421234126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the contributions of B. R. Ambedkar and M.N Srinivas to understand the following:

A. Social mobility
B. Social planning
C. Social unrest
D. Social layers

Choose the correct answer from the options given below:
1. Aand B Only
2. A.Band C Ounly
3.B. C and D Only

4. A and D Only

Question Number : 143 Question Id : 3421234127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

New social movements in India represent:

1. Class struggles

f-2

. Cultural heritage
3. Environmental protection groups

4. Agitations for Land distribution

Question Number : 144 Question Id : 3421234128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following impacted and shaped policies in India for women’s empowerment?

A. Identity based movements
B. Feminist theories

C. Globalisation

D. Policy initiatives

Choose the correct answer from the options given below:

l.A. Band C Only
2. A, B.CandD Only
3.B. C and D Only

4. A, B and D Only

Question Number : 145 Question Id : 3421234129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A well formulated policies would be practical with:

A. A balance between economic growth and equitable social development
B. Identify practical solutions to social problems

C. Using digital platforms to deliver services

D. Working with bureaucratic rules based on Secrecy

Choose the correct answer from the options given below:

1. A. Band C Only
2. A.B.C and D Oaly
3.B, C and D Only

4. A, B and D Only

Question Id : 3421234124 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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forg TTerT=T Y Ufe 9 SUF AT I Y W I IR SR

YR & AT Nsia d ST Hifd, &=1 @1 Sicd qrHroid a1, [afdeargul gimids
Waﬁ?mﬂmﬁﬁqﬁﬁﬁamm@ gmﬁ%wuﬂ%ﬂéﬁgﬂgqél
giied fgid s el & €Y g TUAl U &d g, SJdid gmise Hifadf
TRI, TR-ERTERT 3R 1S -1 oIl Ggl & Yalfed d & ot URiid &1 Sl g1

1. 3R, dSdH 9 UH. U, iy o/ fagHf 3 ImHiois TRIeR1 g Tideiadl & gar diY
H Hedqul anTeH fhar g1 Yifd si-aliel, TaiaRul SRe0 gl 3R Afgdl AUeRI g
Y9 4 YRA ¥ AU 9 Sficlia-l & giord i g

4IH01 9 SHETAT TR SfIeHl & 35 S HGICH [qudf 5 YR YA d ¥hid
! gyIfad fban g1 ARIaIG! il = Aigr =i g fiv memRd fgur 9 qRem &1 3R
dféd fifal @ SeR fear gl

el Wifd widuifed Hifqal & drasie, dra-aa- § Jedyul I-1dal 1 G-l S idl 8
ST YYTER g AIHRATE! B SeHdId M | e fahy d Aradid o faer o
Yo 981 & folT, TS 941 YeH ®34 3R URERId 3984 8d b (fSfoed) del
DI TGN DI, ARG D ¢

Sub questions

Question Number : 141 Question Id : 3421234125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRd & ISP RIgid d UHINS Hid & §id S99 & F8 3 T ®F WP $H3d g2

A, SIfed TSI R
B. Ui idd fafqedr
c. Ufdeiie fRufaa
D. AUHaRe uikder
T feu U faweul § 9 98T 3R 1 944 DHIoIU:
I.A.B3RD
2. A.B3RC

3.B.C 3RD

4.A.B.C3RD

Question Number : 142 Question Id : 3421234126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad ¥ O fag & 914 & folu &1, 3R, 3idsdH 9 UH. T4, N9/ 3 g far » ugaH
DT

A. TSI Tfa=ierd
B. TS HareH
C. gHISS iy
D. UHIS® TR

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1.A3RB

2.A,B3RC

3.B.C3RD

4. A3RD

Question Number : 143 Question Id : 3421234127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR H 0 YIS <aiad 9 I f6d UaiRid #3d g2
1. 37 guy

2. Hipidd fdd
3. TTaR 0T &0 948
4. YA faaRor gq <ieH

Question Number : 144 Question Id : 3421234128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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79 o 9 g URd & Tfgar Gridadmor gq Aifaal & gefad fHar sk SeR fean

A, I 3meTRd 3marad
B. ARIad! ¥<id

C. a0

D. Hifd ggd

A fGu U A edl § O 8T 3R &1 904 DifoiL:
. Hdd A B3R C

2.A.B.C3RD
3. BAd B, C 3R D
4. Hdd A, B 3R D

Question Number : 145 Question Id : 3421234129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hell-Hifd ufdaniea Jifagi (9 H I fbd & 1Y SgagiRd gl

A. TS Hafeg T AT GHESS f[ahrg & | Sdad
B. UHIT® THE13 & HdgIRE JHIYME! $I UgaH

C. YdTt U &34 g 3b1d Hal &l YanT

D. MUHEA TR ARG AdRATe! Fgaf & 91y S HAT1

A fGu U A edl § O 8T 3R &1 904 DifoiL:
. Hdd A, B3R C

2.A.B.C3RD
3. Hdd B, C AR D
4. ®Hdd A, B3R D

Sub-Section Number : 3
Sub-Section Id : 342123166
Question Shuffling Allowed : No

Question Id : 3421234130 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix
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Read the following passage carefully and answer the question:

Contemporary governance 1s described as fundamentally social-political and it is seen as
relatively continuous procedures of relations between societal actors, forces, groups and public
authorities, organisations and institutions. Development Administration is about projects.
programmes, policies and ideas that are focused on nation-building, with the view point that
socio-economic and socio-political development of society should be undertaken by talented and
skilled bureaucrats.

Modern governance involves the interaction of public, private, corporate sector and civil society.
It addresses concerns of transparency, openness, accountability, participation, predictability and
rule of law. The development alternatives in the arena of public administration emphasize the
new model of governance, which contributes the use of networks, stakeholders. partnerships and
collaboration in policy and process of government. It recognizes how to rationalize administrative
structure to make it further efficient regardless of whether a scientific administrative approach or
political evaluation approach 1s emphasized.

The duty of the state is to generate economic, legal and political conducive atmosphere for
enhancing individual competencies and inspire private enterprises. Development actions under
the governance sector revolve around knowledge management, organizational restructuring,
institutional reforms, judicial reforms, law and order, professional development, and service
delivery.

Sub questions

Question Number : 146 Question Id : 3421234131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following explain contemporary governance?

A. Interrelations between socletal actors and public authorities
B. A concern for collaboration

C. Focus on Nation-building

D. Concerned with transparency and accountability

Choose the correct answer from the options given below:

1. A, B, Cand D Ounly
2. A.Band C Ounly
3.A.Band D Only

4. B, C and D Only

Question Number : 147 Question Id : 3421234132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Development administration is not about:

1. Socio economic and political development

. Talents of skilled bureaucrats

t2

3. Inter action among state and non-state actor

4. Policies and projects

Question Number : 148 Question Id : 3421234133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are concerns of modern governance?

A. Transparency

B. Participation

C. Not to promote market and private enterprises
D. Rule of law

Choose the coerrect answer from the options given below:

l.A. Band C Only

2

.B, C and D Only
3.A.Band D Only

4. A. B, Cand D Only

Question Number : 149 Question Id : 3421234134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is concerned with development administration?

l. Pressure groups

f-2

. Promotion of private enterprises

L8]

. Nation building

=

. Knowledge management

Question Number : 150 Question Id : 3421234135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are related to development initiatives under governance?

A. Knowledge management

B. Organisational status quo
C. Institutional reforms

D. Protessional development

Choose the correct answer from the options given below:

l.A. Band C Only

2

. A, Cand D Only
3.A.Band D Only

4. A. B, Cand D Only

Question Id : 3421234130 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

9 =T 9 ufeu 9 3@ d1¢ U® T Kl & IR Sifeig:

YDl AR BT Jd =9 H SIS IASdd diR U Ui {61 Sidl g SR 28 9HisSid
i, i, T9gl vd did wiieemial, a1 qur el & & dedl & grifédg a9
FROR ufdharel & =9 H &\l oiidl ¢ | fah1 U= 34 uRgieHIe, eried!, Jifaal ik
Rl & aR ® g, 59 W 24 =PI & 1 Y A R & Hisd a1 ol § 6
TfqUT=ITCR 3R 0T Fie=me! gRT 9HIS &l FrHifois-2fife td gmifsie e Tar
CRIEIGIEIREY

YD AT rdeHd, 16l BRURCE &7 3R [Gidd Gt i sidishar o ga fgd
AT ¢ | I8 URGIRIAT, G, Sadce!, YRTER!, Jaiad fafY & e IR &H &l g
AP TR & &7 | [AeMdd [debdd A & 39 71 UiddH IR 9d odl o, o IReR
1 -ifd ud ufdhar § eaqd, fgduRa!, Qreialial 3R Tgail & Ui d areH faar gl a8
A1 ¢ [ Y dRe UMD <1 DI 3 SRS §-H g dbaiTd 911 S | 4l g
IS YRS SUNH g1 ASHITdd ST SUNTH W 9d 691 Si1dl ¢ 91 Aol |

IS BT Haod AlRPTd GeEared & Haeq ud s I DI URd & & (U 3HHd
3T, 98 IR SIS aTdERt SO BT g1 AN & &7 & fdild [Ghr e
HRAZY! T YdeH, WSS G, GRS GURI, 1S YR, B Td HTw,
URlaR [9hrY 37 Yal Uerilt & 3a-1116 gidl ¢

Sub questions

Question Number : 146 Question Id : 3421234131 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

afiRad H 9 1Y UG U9 S WY Hd g2

A, THINSS ddiedl 3R did UGl & dig Sidqr-dde
B. Ugdl & WIBHR

C. XI¥ (i W Si<d

D. URGIRIAT 3R Saidcel 9 Hdidd

- feu e fasett # ¥ FT IR &1 99 DI
I.A,B,C3RD

A.B3RC

3.A,B3RD

4.B.C3RD

t2

Question Number : 147 Question Id : 3421234132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fadh T e fbdd a) & 18] 82
L. gt 3M1fdes 3R Ie-ifde fasry
2. fAqUT B =gl BT ufdHT
3. Y 3R IR Ddiedl & ofid 3idfdhar
4. Aifagt 2R gRASHE

Question Number : 148 Question Id : 3421234133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fafdfed o O Y o1y[He A & RHR g2
A, UG
B. HRTGRI
C. SI9IR 3R 16l 399! &1 Uide- 9 &1
D. fafel &1 AT

A fGu U f[ddedl § O 8T 3R &1 904 DT
1.A.B3RC

B.C3IRD

3.A.B3IRD

t2

4.A.B.C3RD

Question Number : 149 Question Id : 3421234134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FgfeRad § 9 &9 [96H™ U2mg- I 9eied g2

. GaTd TG
2. T9Si STl 1 UieTe &1
3. 1y fHfoT

4. I Uy

Question Number : 150 Question Id : 3421234135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFfeRad # T &H- 91 M9 & A¢iH f[9hryg deet gdl U geifdd g2

A. A TS
B. Y&-TdHD guifaufd
C. efT-d gUR
D. U [dH™
A fGu U f[ddedl § O 8T 3R &1 904 DT
LA, B3RC
A, C3RD

3.A.B3IRD

f2

4.A.B.C3RD
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